NOLRICO

(i wle)odos 5 SIS

- i I

AAn

(&) @NOURICO.IR #ssemmd>NOURICO.IR

wyr

)Y £FAYYAY P YA Sy — pd (b oty o> — (3552 (5
FrQ)e o) —F1e.YAVF it



BHE BN
G %%l G seres

SHARZER /| EHEN

Side channel blower/compressor

LA R SRIW AR>S
ZHEJIANG GREENCO INDUCTRY CO.,LTD

=135 ]

o] @NOURICQC

WWwWw



B 2 8 i@ i Company Information

Zhejiang Greenco Industry Co., Ltd,established in 2001 and located in the famous "China Small Compressors Agglomeration City"--Zeguo Town, Wenling City, is one
of China’s high and new tech enterprises who is specialized in making air fluid equipments (compressors and vacuum pumps). With more than ten years’ development,
the company has become a professional manufacturer who is mainly committed to producing side channel blowers plus other kinds of air fluid equipments (vacuum
pumps and compressors), forming the complete structure merging with R&D, production, sales and services. The Company has become the No.1 manufacturer in China
and the leading manufacturer in the world in the industry of side channel blowers.

As of now, the Company with three factories and occupying more than 108,000 square meters, has powerful research and development techniques and advanced
machining equipments---more than 300 production equipments, including 10 more die casting machines, 80 more advanced CNC machines which were directly imported
from German and Japan, many kinds of high precision measurement instruments and devices,more than 70 testing equipments. The company always upholds the
philosophy that it should have the integrated production and management, containing the whole process of design and development, tooling making, die casting,
stamping, high precision machining, assembling and automatic spraying. What's more, the Company newly builds a modernized automatic-spraying and electro-coating
production line for spare parts. By using this production line, every part should be electro-coated and thus the quality of our products are able to be controlled very well
and improved increasingly.

The Company, the "Star Enterprise" in Zhejiang province, was rated as AA-rated "Zhejiang Enterprise of Keeping Contract and Value Credit" and "Zhejiang High and
New tech Enterprise", "The Center of High and New tech Development of Taizhou", "Wenling Key Industrial Enterprise" and named as the pro-listed company. The
company acquired the Certificate of ISO9001:2008 Quality System and the Certificate of ISO14001 Environment Management System. Ring blowers made in the
Company are listed as Zhejiang key project of technical innovation by Zhejiang Economic and Trade Commission and have over 30 national invention and innovation
patents. Leading the development of domestic air fluid equipments (compressors and vacuum pumps), the company has become the leader in this industry in China.
Products in the Company rated as "Taizhou Famous Mark" and "Zhejiang Famous Brand" also acquired certificates like UL, CE, TUV, CCC, ROHS and are mainly exported
to the developed countries in Europe and North America and are very popular among these customers.

With "Continuous Creation and Keeping Excelsior" set as Greenco’s benchmark and adhering to the business principle of "Scientific Management, Brand Supremacy,
Best Quality, Customer Satisfaction", we always believe that customers are the source of our continuous success. Warmly welcome friends home and abroad to visit and
instruct in our company. Your arrivals are the power of our growth and we will give you surprises. We sincerely would like to work with you together to get the win-win

‘achievements and create a glory future. - = - - - : ¢ -

P cornersnn ¢ =L .. d Ii!d:::ﬁli .
iE & P ® b ==
SOSEEARNEN = - 1 SLIRALEANREY .
HEREE ESOREALIEENSRILA - — e
BiA 8 NRASSHR) . AERAS, o “ee (IUTT R + B 11 TLl - -
17 W X AN L EYmoENGMER~A ki b
Pre— -l DR Lhy ety GX5 RS oy 4 —
@ s b mE (LI papne ~-wed LN ot
-0 k_ = 4 |
(=] [m]
- - &) @NOURICO.IR T NOUF




E i Contents

+4++++++t+t Attt Attt A+t

G R¥FFmE T

G Series overview

R 5{TIfE 8
Selection and ordering information

G_200 &%
G_200 series

G_400 &%
G_400 series

RERST

Dimension

B3R

Annex

GREENCO®

WWwWw

01-02

03-46

47-54

55-68

69-72



G_ &3 SIA R LA

G_series side channel blower

G_200
SRR ) AR MAHLAT R ES R ER 2 8 4 WAL SEEZHARMN
Single stage version Two stage,For tougher requirements Single stage Forhigh pressure version Multi-stage reliability for high differential
pressure

e Applications

uﬂa °)a" (6 @NOURICO.IR 48 NOURICO.IR

1Y #F4 Yva¥ YR W — oS (g Sl o> — (i (S
Fra).-31— . YAy ¥ Of&25 2= W S jluly i — 19> S P




2HKBERA KAER

G ZHNSHANHLLRATENSA. RIFFR PS5 (BEFRF) MBI AFEHFHAEIEE UL, CE. CCCIAIE. XEFERK
AEKEANRERRGR. ENALIERRSEFMRK AT AERCH . SSOMFMITMNER, mEXLE~RBNEEHEE, T
RPN D

Ex stock for use world-wide

The G_series side channel blower feature voltage range motors for 50Hz and 60Hz in protectio n c lass IP55(insulation class F)
are UL. CE. CCC approved.This makes them the ideal solution for world wide use.They can be used without any modifications or
tests in Europe,America and Asia.They are mostly available ex stock.They are available for your requirements anytime.

G RIISHRITIERE
G RINHEEZEABIE T L, BExSMTEMEYS. ATRMARRERRRN, MUETEERANEET, tHEBRIENE
AI(ERI S .

SEBERSO 1 RA, HEHANIBE 2 UG, e 3 ARt Am EaSr—NRE, B A LSO DESEFESNIRAEIEM,
BEE MERERIIEELT, SMMBIEEIEM, EHANBERNSEEHE—SEM. EENREEL OMEE, SEEHF LM FET L EER 4 iR

G_series operating principle

The impellers in the G_series machines are mounted directly on the motor shaft for noncontact compression entirely without
friction.Maximum operational reliability,even at high differential pressures.is ensured by the arrangement of the bearings outside the
compression chamber.

The gas it taken in through the inlet 1.As it enters the side
channel 2,the rotating impeller 3 imparts velocity t o the gas in

the direction of rotation.Centrifugal force in the imp eller blades Side channel (2
accelerates the gas outward and the pressure increase.Every
rotation adds kinetic energy.resulting in the further increase o f impelier (3

the pressure along the sid e cha nnel. The side channel narrow
at the rotor,sweeping the gas off th e imp ell er bla des and dis-
charging it through the outlet silencer 4 where it exits the side

channel blower. Oullet (4

Inlet (1




G-200 FZFn MK
G-200 Single and double stage

g




RARCIFTRIZE Z AF
CLASSICS WITH INNOVATIVE TECHNOLOGY

IERIA 2,500mh IS BAIEIA 780mbar M, RAH G_200 RFUM &= REBA T SIMARE BER T 2 RXRMA M.
ENRIRSES, BUE. EEPRKESEEEHAEMTLLEE.

URNIHHBIE, G_200 SR / ELHLAEEEE AT AIRE IR

G_200 RALFAEEIE ULCCC/CE NE, Hitt KBS MM B AT R &,

G_200 i£BIE R

BN A E 481550, 50Hz/60Hz % 05-46 71
BXHE, BEFFEMESRSE g2HW

With their high inlet volume flow up to 2,500m*h and a differential pressure up to
780mbar,ourlow noise G_series allrounders have earned their reputation and convinced thousands of customers all over the world.

They are reliable,low-maintenanceand durable and are the fisrt choice for many
applications in mechanical engineering.

When used with a frequency converter the performance of G_200 side channel blower can be increased considerably.

The G_200 series side channel blowers are UL/CCC/CE approved and can be used without further
testing all over the world.

Selection diagrams and tables for G_200 series
vacuum and pressure mode,50Hz and 60Hz Pages 05-46

Details on voltages,footnotes etc see. Pages 72

GREENCO® B3

=135 5]

] @NOURICO IR www X @1l :{[e{oN]:
O

- Al



2RB 1AC

G &% « G-Series
RN S REETSMERERER TGS % . 2HEEHN

Selection and ordering data for side channel blowers in vacuum and pressure operation.single-phase current

MRS Sik B0
- HE wE BE BAME BEAS BEES

- BES BETE e B 2R x M
Order No. MOTOR weight Sound- Vacuum rellet

- available ex stock | o Rated approx pressure M;’;;[;:“’ T,:)SUT;T n;;x;;:g valve
quency | output | voltage current level Item Xtype

HZ KW Y, A KG dB(A) m*h mbar mbar
RB2A0TAMN | a3 i 5 - o o e
P RB2OTMN o " = & b o5 .S
el e ae e e e — SN
gt N Y & 5 o = = A
2RBITHASY | — S — 5 i % - = = e
2RBIVTMAI o4 & = = s i i T
RBAIOTAN o e 1 & - i 5 i
- RBHOTAR g5 16 5 = e 1% T 2142
: = E.3
e e T T . ——— s
- RBATAN oo 10 o 310 16 5 P SBSIOT 2141
2RBATARY | g i o = S 5 e
“SRBEOIMN T 2 5 = s i
RBSIOTARY | T 24 " -~ " = i
2RBSOTARY |1 2 o = i = T
LRBTIOTAMN o e & - = - = S
[=] =% =] .
03 e 8] @NOURICO.IR www J (f@]1]



i THEEMEEE RN 15CES, HSEH 1013mbar B9 TR TN E ), £ £10%, WASSSFIFE
3 BEAHEIE 25°ChY, BIRARIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar ¢
tolerance of + 10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

Vacuum Selection diagram 50HZ — E %% BIE% 50HZ

Compressor Celetion Diagram 50HZ— [E45;:%£ %IE % 50HZ

Suction Capacity A& (mh) ——=

350

300 250 200 150

——=———  Vacuum({ HZ)

350
300
250
1200
150
100
150
-0
100 50 0 50 100 150 200 250 300

Total pressure difference /A p B2EE A p Pressure( [£7] ) ——m—

Vacuum Selection diagram 60Hz — Rz BIE% 60Hz

Compressor Celetion Diagram 60Hz —E45:%£B/E R 60Hz

Suction Capacity AR (m'h) ——=—

A0 e e e DS - - Y . —— 400
350 =] 350
300+ 300
2501 | - 250
200+ 200
150 150
100 411 100
501 1 1 50
300 250 200 150 100 50 0 50 100 150 200 250 300

—-=——  Vacuum( J{% )

Pressure( £ ) ——=




2RB 1AC

G &%l -G-Series
RN S REESMEDRENER TS . BHEBEH

Selection and ordering data for side channel blowers in vacuum and pressure operation.single-phase current

B 5 i wesin
i P BE RE BARE BEAS EEEN
- BEF . ; : . KE X BS
wemE | O wE | A%
Order No. MOTOR : i . . Vacuv:_ri:ergljef
— weight | oSl | Maximum | Maximum | Maximom =
- available ex stock | Fre-quency s RPRIK level allEiow e b e Items x type
‘output voltage current
HZ KW Vv A KG DB(A) mih mbar mbar
50 0.37 115/230 54127 53 80 -110 110 1xBx110...2141
2RB 210-7TAV15 1"
60 0.45 115/230 6.0/3.0 56 96 -130 140 1xBx114..2142
50 0.37 115/230 54/2.7 54 101 -110 110 1xBx110...2141
2RB 230-7TAV15 "
60 0.45 115/230 6.0/3.0 57 121 -130 140 1xBx114..2142
50 1.1 115/230 14.6/7.3 63 148 -180 190 1xBx110...2141
2RB 410-7TAV25 16
60 1.3 115/230 16.6/8.3 64 190 -180 190 1xBx114..2142
50 1.5 115/230 2211 66 150 -250 260 1xBx110...2141
2RB 420-7AV45 27
60 175 115/230 24/12 69 190 -250 270 1xBx114..2142
50 11 115/230 14.6/7.3 64 180 -170 170 1xBx110...2141
2RB 430-7AV25 16
60 1.3 115/230 16.6/8.3 65 212 -180 180 1xBx110...2141
50 11 115/230 14.6/7.3 63 142 -110 120 1=xBx110...2141
2RB 490-7AV45 17
60 13 115/230 16.6/8.3 64 g -140 140 1xBx110...2142
50 1.5 115/230 2211 64 210 -190 200 1xBx114...2145
2RB 510-TAV35 26
60 1.75 115/230 24/12 70 255 -180 180 1xBx110...2146
50 1.5 115/230 22/11 65 270 -150 140 1xBx110...2141
2RB 530-7AV35 26
60 1.75 115/230 24/12 71 325 -120 110 1xBx114..2146
[=] z.c% [w]
Ny & ' R . O - ) . M IR wWWW ® " ) IR
- " » 5 e O



2RB Series Selection diagram 50/60Hz 1AC 2RB %%l 50/60Hz ;EEIE % 1AC ® ®

()
P THAMREZZ A 15°CES, HSES 1013mbar Y TR TULR), RE £10%, WMAZSFFE
* AN 25°CRY, BIRABIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

Vacuum Selection diagram 50HZ —— B 2% BIE& 50HZ Compressor Celetion Diagram 50HZ — E4g:£ I % 50HZ
E 250 = 250
w 200 200
£ 150 ~150
§ /o 81 AL LI o M A ) 0 100
g 50 4 L 50
300 250 200 150 100 50 0 50 100 150 200 250 300
——=—— Vacuum(Hz) Total pressure difference A p BEE A p Pressure( ) ) ——=
Vacuum Selection diagram 60Hz — HZiA%JE % 60Hz Compressor Celetion Diagram 60Hz —JE 4% B E% 60Hz
T 1 350
| - 300
=
E ~ 250
3 - 200
’E 150
5 100
B
a 50
| 1 4 1 i 1 4 1 i1 | 4 L1 1 1 | 1 1 i1 4 | | | | { } | 1 ! 1 4+ 1 1 . ! ! 1 1 | 4 i1 i 1 4 1 ! Ll + | 1 | | | 0
30 250 200 150 100 50 0 50 100 150 200 250 300
T VerRIO) Total pressure difference /A p BEZE A p Pressure( £} ) ——=—
08
[5]3:% [E]
N ¢ ar %) @NOURICO.IR wm NOURICO.IF
' - ‘ . O



2RB2 3AC

G &% -G-Series
HERARN S RIEESMEDRERER TS .

Selection and ordering data for side channel blowers in vacuum and pressure operation.

Iass T & HZEA
G S 3= RARE | ReHEZE | ®8EDH
- HER ' : A X S
s | R | mm
Order No. MOTOR Sound. | b i
r Weight P ol e Maximum | Maximum | Maximum
+ available ex stock | Fre-quency approx level i vacuum pressure Items x type
' output voltage _ current
HZ KW \ A KG DB(A) m3h mbar mbar
50 0.25 200-240 A /345-415 214N12Y 53 80 -100 110 1%:--2110/---2141
« 2RB 210-7TAHO06 g
60 0.29 220-275 A\ /380-480 2.0 A/1.15Y 56 98 -110 110 1x--:2114/---2142
50 04 200-240 A /345-415 26 A M.5Y 53 80 -120 130 1x---2110/---2141
* 2RB 210-7TAH186 10
60 0.5 220-275 A /380-480 26 A NM5Y 56 98 -150 160 1=:--2114/---2142
S0 0.7 200-240 A /345-415 3.8 A22Y 55 85 -210 240 1x---2110/---2141
« 2RB 220-7AH26 15
60 0.83 220-275 /\ /1380-480 3.75 A215Y 61 102 -250 250 1x---2114/---2142
50 0.25 200-240 A /345-415 2148012Y 54 105 -80 70 1=:--2110/---2141
« 2RB 230-7AH06 10
60 0.29 220-275 A /380-480 1.7 &4 11.0Y 57 120 -90 80 1x--2114/---2142
50 0.4 200-240 A /345-415 26 A M.5Y 54 105 -120 130 1%--2110/---2141
« 2RB 230-7AH16 1
60 0.5 220-275 A /380-480 26 A 1.5Y 57 120 -150 160 1=:--2114/---2142
50 0.7 200-240 A /345-415 3.8 A /22Y 54 105 -120 140 1x2B=2110/---2141
« 2RB 230-7TAH26 12
60 0.83 220-275 /A /380-480 3.8 A22Y 57 120 -160 180 1x2Bx2114/---2142
[=] z.c% [w]
Ny & ' R . 0 - ) . M IR wWWW ® ' ) IR




2RB2 Series Selection diagram 50/60Hz 3AC

— THEMMEEMEZERE 15CES, H5ES 1013mbar TR TMUERN, £ZE £10%, WAZSFIFE
- mENBE 25°ChY, BIFARIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

Vacuum Selection diagram 50HZ — HZ#RIEM%K 50HZ Compressor Celetion Diagram 50HZ R4 LK 50HZ

120 — . _ _ . R , R 120
T 100 100
£ 80 80
5 60 60
E 40 40
E 20 | 0407 20

300 240 180 120 60 0 60 120 180 240 300
—=—— Vacuum(#ZE) Total pressure difference /\ p BEE A p Pressure( Fif ) ——=
Vacuum Selection diagram 60Hz — RZ A% 60Hz Compressor Celetion Diagram 60Hz —— E¢gi&RIE % 60Hz
t 150 - e _ o —_—— . . — 150
H 120 — —120
%
1) 90
<
: 60 60
£ 30 - 30
300 240 180 120 60 0 60 120 180 240 300
b Total pressure difference A p £FE A p PressuraCE) =
0
3 |
O & = @] @NOURICO.IR T NOURICO.IR
) - " N 5 e O



2RB3 3AC

G &% -

G-Series

RERNSRAESMEDBRERNRE TS

Selection and ordering data for side channel blowers in vacuum and pressure operation.

TS g & H=iE
_ o aE EE B EARE mEEE mEES o
- BEF B X WY
i | B & TG
Order No. MOTOR YRGL i siet
I Sound- ; . ; ke
; Weight Prokie Maximum Maximum Maximum
S _ Rated approx - airflow vacuum pressure L
» available ex stock | Fre-quency level Items x type
output voltage current '
HZ Kw \ A KG dB(A) m*h mbar mbar
50 0.55 200-240 /A /345-415 28 ANBY 55 100 -110 120 1x2Bx=2110/...2141
- 2RB 310-7TAHDB 11
60 0.63 220-275 /\ /380-480 3.0 A1.7Y 57 120 -110 120 1x2Bx2114/..2142
50 0.7 200-240 A /345-415 3.8 AJ2.2Y 55 100 -150 150 1x2Bx2110/...2141
= 2RB 310-TAH16 12
60 0.83 220-275 /\ /380-480 3.8 /A /22Y 57 120 -150 140 1x2Bx2114/..2142
50 0.85 200-240 /A /345-415 4.2 /N J2.4Y 58 110 -200 230 1x2Bx2110/...2141
= 2RB 320-7HH26 17
60 0.95 220-275 /\ /380-480 40 A /23Y 60 130 -240 240 1x2Bx2114/...2142
50 1.3 200-240 A /345-415 57 AI33Y 58 110 -280 290 1x2Bx2110/...2141
= 2RB 320-7HH36 18
60 1.5 220-275 A\ /380-480 6.0 A /3.5Y 60 130 -300 400 1x2Bx2114/..2142
50 0.55 200-240 /\ /345-415 2.8 ANBY 56 140 -60 60 1%2B%2110/...2141
= 2RB 330-7TAH06 12
60 0.63 220-275 /A /380-480 3.0 4AN1.7Y o8 165 -50 S0 1x2Bx2114/...2142
50 0.7 200-240 /A /345-415 3.8 AJR2Y 56 140 -100 100 1x2Bx2110/..2141
* 2RB 330-7TAH16 13
60 0.83 220-275 / 1380-480 3.8 A 22Y 58 165 -115 100 1x2Bx2114/...2142
[=] % [m]
N o OJciNle 5 i NOURICO




2RB3 Series Selection diagram 50/60Hz 3AC

P THAMEBRZZERK 15CES, HISEN 1013mbar WA TMHE, £ZE £10%, WASSFIFE
~ BB 25 CH, BIFIIXEIEREEZE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

 Vacuum Selection diagram 50HZ — RZ=ift BEiz 50HZ ‘Compressor Celetion Diagram 50HZ &4 ZIE% 50HZ

T 120 ~120

i

£ 90 90

s

z 60 60

i

S 30 30

§

300 240 180 120 60 0 60 120 180 240 300
—=—— Vacuum(RZ) Total pressure difference A\ p 2E# A p Pressure( £ ) ———
Vacuum Selection diagram 60Hz —— Rz BB 60Hz Compressor Celetion Diagram 60Hz — 4@ BIF% 60Hz

1 150 - 150
£ 120 120
-
= 90 ~ 90
g
§ 60 - 60
H
E 30 . U; 103 . 30

500 400 300 200 100 0 100 200 300 400 500

~=—  Vacuum(HZ) Total pressure difference A\ p 2FZE A p Pressiine( ) | ——o
L] - L] -
@) (@ @18) J.IR WWW DLUR M IR




2RB4 3AC

G %% -G-Series
AN S REETSHE DREREEIFTT S 5.

Selection and ordering data for side channel blowers in vacuum and pressure operation.

iTRS 5 ik HEHE
. 5 E e BE MATE mSHEz BaEh -
- BER - - - - e X RS
hismE | B E X
Order No.. MOTOR Vacuum relief
' ' o Sound- R . o valve
: Weight Frossia Maximum Maximum Maximum
- e Rated approx - EoSst airflow vacuum pressure . .
» available ex stock | Fre-guency - level Items x type
output \'_'qltflg__e- current
HZ KwW \' A KG dB(A) m*h mbar mbar
50 07 200-240 /\ /345-415 3.8 A R22Y 63 145 -120 120 1x...2110/..2141
« 2RB 410-7AHO6 13
60 0.83 220-275 /\ 1380-480 3.75 A f2.15Y 64 175 -140 140 1x,..2114/...2142
50 0.85 200-240 /. /345-415 4.0 M 2.3Y 63 145 -160 160 1%,..2110/...2141
« Z2RB 410-7AH16 16
60 0.95 220-275 /\ /380-480 3.85 A [2.25Y 64 175 -160 160 1x...2114/..2142
50 1.3 200-240 1\ /345-415 5.7 A3.3Y 63 145 -170 200 1x,..2110/...2141
* 2RB 410-7TAH26 17
60 1.5 220-275 /\ /380-480 6.0 /A /3.5Y 64 175 -210 220 1x...2114/...2142
50 1.6 200-240 A\ /345-415 7.5 M 14.3Y 66 150 -280 280 1x2Bx2110/...2141
* 2RB 420-7HH36 25
60 2.05 220-275 /\ /380-480 7.6 A\ 14.4Y 69 180 -320 310 2x2Bx2114/...2142
50 2.2 200-240 A /345-415 9.7 A IS.8Y 66 150 =330 420 1x2Bx2110/...2141
* 2RB 420-THH46 27
60 2.55 220-275 /\ /380-480 10.0 A /5.8Y 69 180 -350 440 1x2Bx2114/...2142
50 07 200-240 /\ /345-415 3.8 2.2Y 64 180 -70 70 1x...2110/..2141
- 2RB 430-7AH06 14
60 0.83 220-275 /\ /380-480 3.8 A02.2Y 65 210 -50 50 2=, 2114/...2142
50 0.85 200-240 /. /345-415 4.2 N [2.4Y 64 180 -110 100 1%,..2110/...2141
« ZRB 430-7AH16 17
60 0.95 220-275 /\ /380-480 4.0 N 12.3Y 65 210 -90 70 2x..2114/..2142
50 1.3 200-240 A /345-415 6.6 M\ /3.8Y 64 180 -180 180 1x%...2110/...2141
« ZRB 430-7TAH26 18
60 5 220-275 /\ /1380-480 6.9 A\ /4.0Y 65 210 -180 170 1x...2114/..2142
50 0.55 200-240 A\ /345-415 25 A N1.4Y 63 140 -120 120 =
* 2RB 490-7TAH16 14
60 0.75 220-275 A /380-480 2.7 A M.8Y 64 175 -140 140 —
- .
. - -
= O" 0 O - () . WWW ) - (s -
= . . O

= : -



2RB4 Series Selection diagram 50/60Hz 3AC

THEAMEE R 15°CES, HISES 1013mbar TR TUHEI, £ £10%, WMASSFIFE
BEAHE 25°Cht, BIAARIBREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar ¢
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

T 160 | - 160

£ 120 120

2 80 - 80

=

140 - 40

‘(-g 0 T . . & 2 = 5 . 1= T e i & i 11 E o G g T - o b B 1 : a o = = - = x T 0

? 400 300 200 100 0 100 200 300 400 500
~—— Vacuum( i) Total pressure difference /A p BEZE A p Pressure( [£7) ) ——m=

250 11 _— - R . e S
ngg ' - 200
§150 ~150
§1DO ~100
§ so 111t . . 50

500 400 300 200 100 0 100 200 300 400 500
~=—— Vacuum( H2) Total pressure difference A p BEE Ap Pressure( ) ) ———
[=] z [=]
I 8 .- - 2l @NOUR M IR R— SUR S IR
\ . 1 O < . O
2 2 z 5 || * ;



2RB5 3AC

G &% -G-Series

HERRNSRAERZFEDBREMERMITRSH.

Selection and ordering data for side channel blowers in vacuum and pressure operation.

TTHaae g & H=(R
. W E 8 g BARE mEHE: BEEH -
* BER - - %A X HS
e | B E CE
Order No. MOTOR : Vﬂc%:r:;ﬁfief
_ Weight P?Z:::ge Maximum Maximum Maximum '
- - Rated approx airflow vacuum pressure : :
« available ex stock | Fre-quency level ltems x type
output voltage current
HZ KW A A KG dB(A) m*h mbar mbar
50 0.85 200-240 A /345-415 4.0 A j2.3Y 64 210 -110 100 1x...2110/...2145
* 2RB 510-7AHO6 20
B0 095 220-275 /A /380-480 4.2 M /23Y 70 255 -80 70 1%...2114/..2146
50 1.3 200-240 [\ /345-415 6.6 A /3.BY 64 210 -170 170 1%...2110/...2145
* 2RB 510-7AH16 22
60 15 220-275 /A /380-480 6.9 A /4.0Y 70 255 -150 140 1x,.2114/...21486
50 1.6 200-240 A /345-415 7.5 0 /14.3Y 64 210 -200 190 1x...2110/...2145
« 2RB 510-TAH26 23
60 2.05 220-275 /\ /380-480 7.6 A /44Y 70 255 -220 210 1x..2114/...2146
50 2.2 200-240 A\ /345-415 9.7 A /5.8Y 64 210 -220 270 1%...2110/...2145
* 2RB 510-7AH36 25
60 2.55 220-275 /\ /1380-480 10.3 A /6.0Y 70 255 -260 290 1x..2114/...2146
50 3.0 200-240 A\ /345-415 125 &M T.2Y 72 230 -340 410 1x2B2110/...2145
« 2RB 520-7HH46 40
60 345 220-275 /. /380-480 12.6 A 1.3Y 74 275 -380 360 1x2B2114/...2146
50 4.0 345-415 /A /600-720 10.0 & /5.8Y 72 230 -390 440 1x2B2110/...2145
* 2RB 520-7THH57 41
60 4.6 380-480 A\ /660-720 9.9 /A /5.71Y 74 275 -410 480 1x2B2114/...2146
50 0.85 200-240 /\ /345-415 4.0 A 12.3Y 65 270 -40 40 1%...2110/...2145
* 2RB 530-7AHO6 21
60 0.95 220-275 A /380-480 42 /1 /24Y 71 330 -40 40 1x..2114/...21486
50 1.3 200-240 /A /345-415 6.6 /A /3.8Y 65 270 -120 110 1%...2110/...2143
« 2RB 530-TAH16 23
60 1.5 220-275 /[ /380-480 6.9 A /4.0 71 330 -90 80 1%...2114/..2146
50 186 200-240 A /345-415 7.5 /4.3 65 270 -160 150 1x...2110/...2145
« 2RB 530-7AH26 24
60 2.05 220-275 /. /380-480 7.6 [ /4.4Y 71 330 -160 150 1x...2114/... 2146
50 2.2 200-240 A\ /345-415 9.7 1 /5.8Y 65 270 -220 230 1%...2110/...2145
- 2RB 530-7TAH36 26
60 255 220-275 /\ /380-480 10.3 A\ /6.0Y 71 330 -260 250 1%...2110/...2146
50 121 200-240 A /345-415 ST A [33Y 64 210 -130 150 e
* 2RB 590-7AH26 23
60 1.7 220-275 £\ /380-480 6.0 A /3.5Y 71 255 -180 210 —
U
Y - -
e o“ ) ) » O ' WWW )




2RB5 Series Selection diagram 50/60Hz 3AC

THEEMEEHEEEHR 15CES, HSED 1013mbar TR TNEE, £ZE £10% WMAZSHIFE
BEAEEIE 25°CRf, BNAIABIBIREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £+10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

300
T o5l L L) 1L} - 250
% 200 4+ttt 200
3 150 | S i 150
E. 100 | W A ") Vi — - - . = 1 1 1 J . O T S e e I S S . WA TS W W [ T —— 41 —ti L 100
£ 50 44— ;_ ~ 50

500 400 300 200 100 0 100 200 300 400 500

Vacuum( #z2) Total pressure difference A p 2FE A p Prossurs( 1)

350 350
r 300 300
.;E 250 - 250
i 200 - 200
g 150 - 150
§ 100 - 100

500 400 300 200 100 0 100 200 300 400 500

VR ) Total pressure difference A p BEZE A p Pressure( 7)) —m

[m] 325 [=]
e $ = " -
- o . . - . - WWW . - . -
™ . O

= :



2RB6 3AC

G &% -G-Series

BEAN SRR FE DIRMERNERI AT S .

Selection and ordering data for side channel blowers in vacuum and pressure operation.

TR = K=
@ E £ BE EXKE | BHAS E®ES
- HER HH X MG
LiTheBoE S " E B
Order No. MOTOR _ sl
o Sound- P W . B
Rated W"-'Q*‘_‘ Pressure Ma'x_imum aximum Ma.x:m.urg
+ available ex stock | Fre-quency g level S Xoeunm pessts ltems x type
output voltage current
HZ KW Vv A KG dB(A) m*h mbar mbar
50 1.6 200-240 A\ /345-415 8.5 A\ /4.9Y 68 265 -170 180 1%...2110/...2145
+ 2RB 610-7AHO6 25
60 2.05 220-275 /[ /380-480 8.8 AI51Y 70 315 -180 190 1x%...2114/..2146
50 2.2 200-240 /. /345-415 9.7 A /I58Y 69 265 -235 220 1%...2110/...2145
* 2RB 610-7AH16 28
60 2.55 220-275 /\ /380-480 10.3 A /8.0Y 72 315 -245 230 1x...2114/...2146
50 3.0 200-240 A\ /345-415 125 A 7.2 B89 265 -280 280 1%...2110/...2145
* 2RB 610-7AH26 34
60 3.45 220-275 /\ /380-480 12.6 A /7.3Y 72 315 -260 270 1%...2114/..2146
50 1.6 200-240 A\ /345-415 8.5 A\ /4.9Y 70 345 -125 125 1%...2110/...2145
* 2RB 630-7AHO6 26
60 2.05 220-275 A\ /380-480 8.8 A /5.1Y 73 415 -105 130 1x...2114/..2146
50 22 200-240 A /345-415 9.7 A /586Y 70 345 -200 195 1%...2110/...2145
+ 2RB 630-7AH16 29
60 2.55 220-275 /\ /380-480 10.3 /A /8.0Y T3 415 -170 195 1x%...2114/..2146
50 3.0 200-240 A /345-415 125 A 7.2 70 345 -240 220 1%...2110/...2145
* 2RB 630-7AH26 35
60 3.45 220-275 /. [380-480 12.6 A JT.3Y 73 415 -210 220 1x...2114/...2146
- .
Y - -
= O" 0 O - () . WWW ) - (s -
= s : ®)
[ : -



2RB6 Series Selection diagram 50/60Hz 3AC

THEMMEEEREME 15CESR, HSES 1013mbar IR TRHE, £E £10%, WMAZSHIFE
mE AT 25°CRY, BIRIABIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

+ 300+ 300
E
"
2 200+ 200
¢ 100 100
3 i
L e S T e [ =l
300 250 200 150 100 50 0 50 100 150 200 250 300

———— Vacuum( %) Pressure( [£1]) ———m=

400

300

Suction Capacity SA R (m'h) ——=—
[he]
o
o

300 250 200 150 100 50 0 50 100 150 200 250 300

—=——— Vacuum({ HZ¥) Total pressure difference A p BFEE A p

oFEao

Pressure( EH ) ———sm

d ~ ) - o . WWW ) - ® -

= :



2RB7 3AC

G &% + G-Series

MR S RARSMETRENER TR H.

Selection and ordering data for side channel blowers in vacuum and pressure operation.

T =3 W
ans 3 = s wran | wmRs | wmEn
' T ‘ BE R A BE
Order No. Sour - o o Vacuum rellet
< avallable ex stock _ ressure Meximum Maximum | Maximum valve
Fre-quency —— —— — airflow vacuum prassure —_—
" output current. level item Xtype
HZ Kw A KG dB(A) mih mbar mbar
50 16 200-240 4 /345-415 B85 A /48Y 69 318 -160 150 1=..2110/..2145
= 2RB T10-7TAHOB 27
60 205 220-275 4 1380-480 B85 A /51Y T2 376 -160 150 1=_.2114/..2146
50 272 200-240 A [345-415 97 A ISBY 69 318 -180 190 1=..2110/...2145
» 2RB 710-7TAH16 30
60 255 220-275 £ /380-480 10.3 A 16.0Y T2 376 -180 190 1=..2114/.2146
50 3.0 200-240 A 1345415 125 A M.2Y 69 318 -260 270 1=..2110/..2145
« 2RB 710-7TAH26 36
60 345 220-275 /A 1380-480 126 A 7.3Y 72 376 -240 230 1=..2114/..21486
: 1B00- ] 3 1 = *.,.2110/...
« 2RB 710-TAH3T 50 4.0 345-415 A /600-720 9.0 A /52Y 40 73 318 290 360 1=..2110/..2145
60 46 3B80-480 A 1660-720 9.0 A /52Y 76 376 -320 310 1= 2114/.21486
50 22 200-240 A 1345415 97 AJSBY 58 320 -220 210 1=2B=2110/...2145
» 2RB 720-THH16 43
60 255 220-275 A 1380-480 10.3 A /6.0Y 60 380 -170 150 2x2B=2114/._2146
50 3.0 200-240 A f345-415 125 A 7.2 73 320 -280 260 1=2B=2110/...2145
= 2RB 720-THH26 48
60 345 220-275 A (380-480 12.6 A 7.3Y 76 380 -230 200 2=2B=2114/..2146
K i : - f...
« SRE 720-7THHAT 50 4.3 345-415 A 1600-720 10.0 & /5.2 54 3 320 360 380 1=2B=2110/...2145
60 48 3B0-480 A /660-720 104 A 16.0Y 76 380 -350 320 1=2B=2114/..2146
50 5.5 345-415 A 1600-720 133 A7TY 73 320 -440 500 1=2B=2110/..2145
* 2RB 720-THH47 66
60 6.3 380-480 A f660-720 1B33AMRTY 76 380 -440 500 1=2B=2114/..2146
. 5RB 720-7HHET 50 L 345-415 A 1600-720 16.7 & 19.8Y 73 7 320 -440 570 1=2B=2110/...2145
60 B6 380-480 A 1660-720 17.3 A [10.0Y 76 380 -460 660 1=2B=2114/.. 2146
50 16 200-240 A /345-415 8.5 A 4.89Y 70 420 -100 100 1=..2110/..2145
» 2RB 730-TAHOB 29
60 2.05 220-275 £ 1380-480 88 AJS51Y 73 500 -110 100 3= 2114/..2146
50 22 200-240 A (345-415 9.7 LD EY 70 420 -180 170 1= 2110/.2145
+ 2RB 730-TAH186 32
60 2.55 220-275 / 1380-480 10.3 & /6.0Y 3 500 -160 150 2=..2114/ 2146
50 3.0 200-240 A 1345-415 125 A 07.2Y 70 420 -220 200 1=..2110/.2145
+ 2RB 730-TAH26 37
60 345 220-275 A (380-480 12.6 A /7.3Y 73 500 -200 170 2% 2114/(.21486
50 4.0 345-415 A /600-720 90 A /62Y 70 420 -260 280 1=..2110/.. 2145
» 2RB T30-TAH37 43
60 46 380-480 A /660-720 90 A/52Y 73 500 -260 260 2=_.2114/.2146
50 40 345-415 A 1600-720 90 A /52Y T4 500 -150 140 1=2B=2110/..2145
« 2RB 740-TGH37 54
&0 48 380-480 A\ /660-720 9.0 A /5.2Y 78 600 -100 a0 2x2B=2114/_2146
50 55 345-415 A 1600-720 1B33ARTY T4 500 -240 260 1=2B=2110/.. 2145
+ 2RB T40-7TGH4T 69
60 63 380-480 A 1660-720 1B33AM0TY 78 600 -210 200 2=2B=2114/..2146
50 7.5 345-415 A /600-720 16.7 A /9.6Y T4 500 -240 320 1=2B=2110/..2145
+ 2RB 740-7TGH57 il
60 8.6 380-480 A /660-720 17.3 A 10.0Y 78 600 -270 300 1=2B=2114/.. 2146
50 22 200-240 A 1345-415 125 4 7.2 69 320 -160 200 =
= 2RB T90-TAH26 36
60 3.45 220-275 A 1380-480 126 A 7.3Y 72 370 -240 250 p—
E T E: E
U
[y -
.W-




2RB7 Series Selection diagram 50/60Hz 3AC

THEHMMERZIEERR 15CES, HSES 1013mbar W IA TN HR, £E +10%, WRAZSFIE
mEAET 25°ChY, BILARIEIREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

600 600
T 500 500
£ 400 400
3 300 300
g 200 200
% 100 100
500 400 300 200 100 0 100 200 300 400 500 600
= VacuumCIeL ) Total pressure difference & p B[EE A p Pressure( [£}1) ——m=—
700 700
600 600
£ 500 - 500
E
o 400 400
_(
g 300 300
]
g 200 200
£ 100 100
" i M o N T N ) O U NER O ) ) O I T ) A ) 1 0 0 A 80 8 O S 1 ) IR 0 IO O 1 ) O 1 1 Y
500 400 300 200 100 0 100 200 300 400 500 600 700
~&—— Vacuum( =) Total pressure difference A p BEZE A p Pressure( £f)) —=—
EAD
[=] x5
[} - L) ™ 5
m o o . - . - WWW . - . -
= - 2 @]

= : -



2RB8 3AC

G #%! -G-Series

HEmE SR AR S ME SHRERERFIT IS H

Selection and ordering data for side channel blowers in vacuum and pressure operation.

ITIaES 5 ik HEM
= 5 BE BARE BEmES BEEN
- BER HR x BE
e | & & B R
Order No. MOTOR acuan TR
' - Sound- . . . valve
Weight e Maximum Maximum Maximum
Rated approx ERERUS airflow vacuum pressure
- available ex stock | Fre-quency level Items x type
output voltage current
HZ KW \' A KG dB(A) m*h mbar mbar
50 4.0 345-415 A\ /600-720 9.5 A /5.5Y 70 530 -200 200 1=x2B=4740/...4840
+ 2RB 810-7AHO7 54
80 4.6 380-480 A\ /660-720 9.5 A /5.5Y 74 620 -160 160 1x2Bx4744/...4844
50 55 345-415 /\ /600-720 12.9 A J7.4Y 70 530 -300 300 1x2B=4740/...4840
+ 2RB 810-7TAH17 63
60 6.3 380-480 A\ /660-720 | 12.8 A\ /7.45Y 74 620 -300 280 1x2Bx4744/...4844
50 75 345-415 /\ /600-720 16.7 A /9.6Y 70 530 -320 430 1x2Bx4740/...4840
+ 2RB 810-7AH27 66
60 8.6 380-480 /\ /660-720 17.3 A 10.0Y 74 620 -350 400 1x2B=4744/..4844
50 55 345-415 /A /600-720 133 ATTY 74 520 -250 240 1x2Bx4740/...4840
« 2RB 820-THH17 83
80 6.3 380-480 /A /660-720 133 AJT.7Y 78 620 -170 160 1%2Bx4744/...4844
50 7.5 345-415 /\ /600-720 16.7 £\ /9.6Y 74 520 -400 400 1x2B=4740/...4840
* 2RB 820-7THH27 86
60 8.6 380-480 A /660-720 | 17.3 A /10.0Y 78 620 -360 330 1x2Bx4744/...4844
50 11.0 345-415 /\ /600-720 | 28.0 A /16.2Y 74 520 -430 600 1x2Bx4740/...4840
* 2RB 820-THH37 104
60 12.6 380-480 /\ /660-720 29.0 A MB.TY 78 620 -460 600 1x2Bx4744/...4844
50 15.0 345-415 /\ /600-720 | 32.5 A /18.8Y 74 520 -480 670 1x2Bx4740/...4840
* 2RB 820-THH47 120
&80 17.3 380-480 /\ /660-720 34.5 A M19.9Y 78 620 -490 750 1x2Bx4744/..4844
50 4.0 345-415 /\ /600-720 9.5 A /5.5Y 70 700 -150 140 1x2Bx2110/...2145
« 2RB 830-7TAHO7 57
60 46 380-480 /\ /660-720 9.5 A /5.5Y 74 840 -90 90 1x2Bx4744/..4844
50 55 345-415 /\ /600-720 12.9 A I7.4Y 70 700 -200 190 1x2Bx2110/...2145
« 2RB 830-TAH17 66
60 6.3 380-480 /\ /660-720 12.9 A /T.45Y 74 840 -180 180 1=2B=4744/...4844
50 7.6 345-415 /\ /600-720 16.7 £\ /9.8Y 70 700 -270 260 1x2Bx2110/...2145
+ 2RB 830-7AH27 69
60 86 380-480 A /660-720 17.3 A 710.0Y 74 840 -270 260 1x2B=4744/..4844
50 75 345-415 /\ /600-720 16.7 /A /9.8Y 74 900 -200 180 1x2Bx4744/...4840
+ 2RB 840-7TGH27 91
60 8.6 380-480 /\ /660-720 17.3 A 10.0Y 78 1050 -150 120 1x2B=4744/...4844
50 11.0 345-415 /\ /600-720 | 28.0 A /16.2Y 74 900 -280 370 1x2Bx4740/...4840
» 2RB 840-TGH37 110
60 12.6 380-480 /\ /660-720 29.0 A MB.TY 78 1050 -310 350 1x2B=4744/...4844
Em
8 = - o - -
o @) &) © www DO UR




2RB8 Series Selection diagram 50/60Hz 3AC

THEMMEEMEZEMRR 15CES, H5ES 1013mbar PILA UL, RE £10%, WASSFIFE
mE B 25°CHf, BIFIIXEIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

1000 - 1000
T 800 800
£ 600 600
% 400 400
S
z
g 200 : 200
i ey
@ 500 400 300 200 100 0 100 200 300 400 500 600 700

——=——  Vacuum{ %) Pressure( £ ) —m—

Total pressure difference A p EFE A p

1200 1200
T 1000 —— 1000
« 600 600
5
> 400 400
i ly73 s |
? 200 1 ~ 200
E 0 e bt t i B T B e e e T B B R T B e I B B Y e 0
500 400 300 200 100 0 100 200 300 400 500 600 700 800
~e——— Vacuum( H2) Total pressure difference A p BEE Ap Pressure(£/)) —m—
LY - L] ol - -
ORC @ () WWW () » ) =




2RB9 3AC

G A%l -G-Series

HomI SRAEREMESRIERERFAITIOS .

Selection and ordering data for side channel blowers in vacuum and pressure operation.

irEEs 5 & Bl
#E =E [-5-3 mATE REERES wEEN
~HEE - = : #A x RIE
itizhae B E Bt
Order No. MOTOR 5
— Weight Psr::;ﬁe Maximum Maximum Maximum NasUTrElict vabve
. - . - - approx e airflow vacuum pressure
available ex stock | Fre-quency output — o level ems = fype
HZ KW v A KG dB(A) m*h mbar mbar
50 8.5 18.2 A M0.5Y 74 1050 -180 190 1=750/...860
+ 2RB 910-TAHO7 60 9.8 380-480 A /660-720 18.2 A 110.5Y % 79 1250 -150 140 1%754/...864
50 125 345-415 /A /600-720 28.0 A MB2Y 74 1050 -280 280 1=x750/...860
*ARBIIAR 60 14.5 380-480 A /660-720 | 29.0 A 16.7Y Wil 79 1250 -270 260 1x754/...864
50 18.5 345-415 A /600-720 37.0 A 21.0Y 74 1050 -360 460 1=750/...860
HARS GO R 60 21.3 380-480 A\ /660-720 | 39.0 A j22.5Y i 79 1250 -380 420 1x754/,..864
50 125 345-415 4 /600-720 28.0 A MB.2Y T4 1110 -300 270 1=750/...860
«RER Y 60 14.5 380-480 A /660-720 | 29.0 A 116.7Y b 78 1310 -220 200 1x754/,. 864
50 16.5 345-415 /\ /600-720 35.0 A f20.0Y 74 1110 -410 370 1=750/...860
SERB SR T 60 19.0 380-480 A /660-720 | 36.5 A [21.0Y L 78 1310 -340 300 1x754/,..864
50 200 345-415 A /600-720 | 40.0 A J23.0Y 74 1110 -440 500 1%750/...860
2RB B0 THRIOT 60 23.0 380-480 A /660-720 42.0 A 1242Y 204 78 1310 -440 430 1=754/..864
50 25.0 345-415 /A /600-720 | 52.0 A 130.0Y 74 1110 -440 590 1x750/...860
2RO H20TIEHT 60 29.0 380-480 A /660-720 52.0 A 130.0Y 2 78 1310 -440 540 1=x754/ 864
50 85 345-415 A, /600-720 18.2 A /10.5Y 75 1370 -120 110 2x_.750/1=.. 880
" 2RB 930-7AHO7 60 98 380-480 £ /660-720 18.2 A /10.5Y 98 80 1650 -80 70 2= T54/1=_ 864
50 12.5 345-415 A /600-720 | 28.0 A /16.2Y 75 1370 -190 180 1x...750/...880
NSRS 60 14.5 380-480 A /660-720 390 A /225Y 1= 80 1650 -150 150 1= 754/ 864
50 18.5 345-415 £ /600-720 | 37.0 A J21.0Y 75 1370 -310 320 1x,..750/...880
* ZRE Q0T AR 60 21.3 380-480 A /660-720 39.0 A f22.5Y 14l 80 1650 -300 280 1= 754/ 864
50 15.0 345-415 A /600-720 | 35.0 A 120.0Y 75 1940 -130 110 2x_.750/1=.. 880
258 S0 (BRZT 60 175 380-480 A /660-720 36.5 A 21.0Y G 84 2310 -60 40 2= T54/1=_ 864
» 9RB 940-7BH37 50 200 345-415 /. /600-720 40.0 A 123.0Y 212 75 1940 -220 200 2=__750/1=__880
60 230 380-480 A /660-720 | 42.0 A /24.2Y 84 2310 -160 130 2%, 754/1x= . 864
50 250 345-415 A /600-720 52.0 A 130.0Y 75 1940 -310 280 1=_.750/...880
e TR 60 29.0 380-4B0 A /660-720 | 52.0 A /30.0Y B 84 2310 -270 220 1x...754/.. 864
> . " 50 15.0 345-415 A /600-720 35.0 A f20.0Y 75 2050 -160 170 2=__.750/1=_870
2RE $FTBHET 60 175 380-480 A /660-720 36.5 A 21.0Y 220 84 2480 -120 110 2= T54/1=_ 874
50 20.0 345-415 A /600-720 | 40.0 A /23.0Y 75 2050 -250 230 2x..750/1=,..870
& = 1
<BR sty BRIt 60 23.0 380-480 A /660-720 42.0 A 124.2Y £ 84 2480 -180 180 2% TH4/1=_ 874
. ; 4 50 250 345-415 A /600-720 | 52.0 A /30.0Y 75 2050 -310 280 2%, . 750/1x=.,.870
BB MSTBNT &0 29.0 380-480 A /660-720 52.0 A 130.0Y 25 84 2480 -270 230 2x__T54/1=__ 874
. - . ~
O G [ ) [ ) WWW [+




2RB9 Series Selection diagram 50/60Hz 3AC

THEMMEEEMEREMR 15CES, HSES 1013mbar LR TMHE, £E £10%, BRAZSFIHE
mEANEE 25°CRY, BILARIEIREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a tolerance
of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

Vacuum Selection diagram 50Hz — E 2% B % 50Hz Compressor Celetion Diagram 50Hz— E4&:% BIE % 50Hz
2500 — : : : o : . , 2500
T 2000
£
E 1500 +——————
-
2
z 1000
;
£ 500
3
0 .l 1 — 1 ! PR B | I (T B 1 TR | S| A I S L | T S ) L) B (T S AL . - | IS ST T, B | D
500 400 300 200 100 0 100 200 300 400 500 600
—~=——  Vacuum( H22) Total pressure difference A p BFEZ A p Pressure( £ ) ——=—
Vacuum Selection diagram 60Hz —— HZ& BIE% 60Hz Compressor Celetion Diagram 60Hz — E4gi#E/E% 60Hz
2500+
T 20004————+4-+ 1 1 bt L1 b L]
£ 1
E 1500 +———————————t-ot==t—]
-
=
£ 1000 .
g 500 —————
E
500 400 300 200 100 0 100 200 300 400 500 600
———— Vacuum( H=) Total pressure difference A p 82FZ Ap Pressure( ] ) —
L] - L]

O G @18) J.IR WWW DLUR M IR




G-200 A [IINEZER /| E4H

G-200 Bare shaft side channel vacuum pump/compressor

- o) @NOURICO.IR T NOURICO




2RB 213-1HY99 Ordering data

THENMEEEREMR 15CES, HISEH 1013mbar IR TMEH, 22 £10%, WMAESFIFE
mEAEI 25°ChRt, BIRARIERREE.

The performance curves are valid for pumping air at 15°Cat the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO Rated Speed | Rated power m '::fu'g:;‘ ;,“"’",m“‘m": : Sound-level Weight approx Vacuum rellet
iR BEE BRARE mAHEZE BAES e £ ltems X type
T
RPM KW m*h mbar mbar dB(A) Kg 2BX
3000 0.7 80 -130 130 53
i 3600 0.83 100 -160 160 56 55 1%---2110/---2141
4200 0.95 120 170 170 60 ' (Rv-01)
5000 1.1 140 -180 170 62
Vacuum Selection diagram —H =5 &I E % Compressor Celetion Diagram —E#giE R ER
150 Y r T r ~ 150

¢ 120 - 120

£ 90 - 90

[

<

= 60 60

& 30 30

200 150 100 50 0 50 100 150 200
~=e—— Vacuum( A%) Total pressure difference A p BEE A p Pressure( [E)) ——3=—
L] - L] -
@) (@ @18) J.IR WWW DLUR M IR




THEHAMEREZZERR 15CES, HSES 1013mbar TR TMUERN, £ZE £10%, WASSFITE
mETEBE 25 CH, BIFIIXEIEREEZE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

2RB 223-1HY99 Ordering data

iR BCEINE mAHE BAHZ mAEH BRE 3 ltems X type
RPM KW mi/h mbar mbar dB(A) Kg 2BX
3000 0.7 85 -210 240 55
] 3600 0.83 102 -260 290 61 9 1%--:2110/---2141
4200 0.95 128 -290 280 64 (RV-01)
5000 1.1 150 -220 230 66
Vacuum Selection diagram — or Celetion Diagram —E4git A/ E &R
160 160

= 120

x

= 80 - 80

B

P40 - 40
350 300 250 200 150 100 50 0 50 100 150 200 250 300 350

—a—— Vacuum( #%) Total pressure difference A p BJEE A p Pressure( [E) — =
L] - L]

O G @18) J.IR WWW DLUR M IR




2RB 233-1HY99 Ordering data

TEAMAERZZIEMI 15CES, HSEHN 1013mbar LA TMHEA, £ZE £10%, WAZSFIFE
mERET 25ChY, BIFARIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

- Scdtiovel N

iR BEEE mARE =3 £ ltems X type
s

RPM KW m*/h mbar mbar dB(A) Kg 2BX

3000 0.7 105 120 140 54

3600 0.83 120 160 180 57 1%--2110/--2141
1 7

4200 0.95 140 220 230 60 (RV-01)

5000 1.1 170 210 190 63

T 200

= 150 - 150

E

1]

2 100 : ~100

i 50 50

i o | | . | | | ‘ | | L &

250 200 150 100 50 0 50 100 150 200 250
—==—— Vacuum( #Z) Total pressure difference /. p 2EE A p Pressure( [E) ——3=—
'
L] - L] O' - . - . - WWWwW . - . -




RB 413-1HY99 Ordering data

THEHAMEEHZL A 15°CES, HSET 1013mbar B TR TMEAY, RE £10%, WAZSFIIE
mE BT 25°ChY, BIMIARIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO o . i uum rellet
- RARE BRAREZE wmAEN BE iE ltems X type
RPM KW m?h mbar mbar dB(A) Kg 2BX
3000 0.85 150 -160 160 63
1 3600 0.95 180 -160 160 64
4200 1.3 220 -180 180 68
5000 156 250 -140 130 74 75 1x---2110/---2141
3000 13 150 -170 200 63 ' (RV-01)
9 3600 1.5 180 -210 200 64
4200 1.75 220 -210 190 68
5000 21 250 -190 190 74
-~ 300
A 250 = - 250
= 200 ~ 200
&
® 150 - 150
=
§ 100 100
£ 50 50
0 { { f ! T T i -0
300 250 200 150 50 50 150 250 300
- Vacuum( 52 ) Total pressure difference /A p BJEE A p Pressure( 7)) ——=
L - L] . =
ORC @ wWWwW ) -




2RB 423-1HY99 Ordering data

THRNMEMEEEMR 15°CES, HSES 1013mbar TR TMER, ZE £10%, WAZSFHE
BERET 25°CRY, BIRNAZIERREE. =
The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a C}I
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C . (D
NG Air floy ‘Vacuum rellet
" 3R Fe&EIhE BRARE BRAESD wmAEH Li3=1 S Items X type
i
RPM KW m®h mbar mbar dB(A) Kg 2BX
3000 22 160 -330 440 66
i 3600 2.55 190 -350 420 69 §45 1%:-:2110/---2142
4200 3.0 230 -420 400 72 ‘ (Rv-02)
5000 38 260 -380 330 77
~Vacuum Selection diagram —H = %R E %
300 300
} 250 | ——== - 250
;E 200 ~ 200
® 150 150
=
Z 100 100
g
s 50 50
v 0o | ] . | | | ‘ | L0
500 400 300 200 100 0 100 200 300 400 500
—~e—— Vacuum( i) Total pressure difference A p 2EE A p Pressure( [} ) —=
LY - L] -
@) (@ @18) J.IR WWW DLUR M IR




2RB 433-1HY99 Ordering data

THEMEEZERAEHRR 15CES, HSES 1013mbar TR TMHEAE, £E £10% WAZSHIFE
REABIE 25°CR, BIfABERREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

iR BEIhE mARE BmARERN =y = Items X type
Hi
RPM KW mh mbar mbar dB(A) Kg 2BX
3000 13 180 -180 200 64
1 3600 1.5 210 -210 240 65 e 1%---2110/---2141
4200 1.75 255 -240 230 69 ' (RV-01)
5000 21 300 -180 170 75
" Vacuum Selection diagram —EZS %R
350 ~ 350
T 300 H —— - 300
= 250 - 250
; 200 - - 200
5 150 150
£ 100 - 100
5
3 50 50
o - | | ] | | || | | | | | L0
300 250 200 150 100 50 0 50 100 150 200 250 300
—e——— Vacuum( Hz=) Total pressure difference /A p 2F& A p Pressure( 1] ) ———

O G @18) J.IR WWW DLUR M IR




2RB 433-1HY99 Ordering data

THEMEEZERAEHRR 15CES, HSES 1013mbar TR TMHEAE, £E £10% WAZSHIFE
REABIE 25°CR, BIfABERREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

iR BEIhE mARE BmARERN =y = Items X type
Hi
RPM KW mh mbar mbar dB(A) Kg 2BX
3000 13 180 -180 200 64
1 3600 1.5 210 -210 240 65 e 1%---2110/---2141
4200 1.75 255 -240 230 69 ' (RV-01)
5000 21 300 -180 170 75
" Vacuum Selection diagram —EZS %R
350 ~ 350
T 300 H —— - 300
= 250 - 250
; 200 - - 200
5 150 150
£ 100 - 100
5
3 50 50
o - | | ] | | || | | | | | L0
300 250 200 150 100 50 0 50 100 150 200 250 300
—e——— Vacuum( Hz=) Total pressure difference /A p 2F& A p Pressure( 1] ) ———

O G @18) J.IR WWW DLUR M IR




2RB 513-1HY99 Ordering data

THAMREZZ A 15°CES, HSES 1013mbar Y TR TULR), RE £10%, WMAZSFFE
AN 25°CRY, BIRABIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

| Rated Speed | Rated power | Maximim Air flow | Maximim vacuum | Maximim pressure | Sound-level | ‘Weight approx ' Vacuum rellet
e iR BEEINE BARE RAKET BXEH =3 E3 Items X type
RPM KW mh mbar mbar dB(A) Kg 2BX
3000 13 210 170 170 64
’ 3600 15 255 -150 140 70
4200 1.75 300 -130 100 72
5000 2.1 350 70 60 75
3000 16 210 200 190 64
) 3600 2.05 255 -220 210 70 » 1x-:2110/--2141
4200 23 300 -180 170 72 (Rv01)
5000 26 350 -130 120 75
3000 22 210 220 270 64
3 3600 2.55 255 260 290 70
4200 30 300 -300 270 72
5000 38 350 270 240 75

¢ 400
2 - 300
®

[11:]

& - 200
g - 100
g 0 — | 1 1 I 1 T +~ 0

350 300 250 200 150 100 50 O 100 200 300 400

—e——— Vacuum( %) Total pressure difference A p 2JEE A p Pressure( ) ) —— 3w

(& @NOURICO.IR 42T JOURICO.IR

v

YR) S — mod g Sl i — (5> oD

-31Y £F1 YYaF
P+ — V- YAVF




2RB 533-1HY99 Ordering data

THAMREMEZEMR 15CES, HISEDN 1013mbar TR TRHAY, £E £10%, WATSFIFE
imETEBIE 25°CHf, BIFIIAEIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

- wmARE BRAES mAEND ltems X type
’ RPM KW m¥h mibae mbar 28X
3000 22 270 220 230 65
, 3600 255 330 -260 250 71 s S SR
4200 3.0 390 270 250 73 (RV01)
5000 38 460 230 220 76
500 — 500
I 400 400
T
~ 300 300
]
<
= 200 200
& 100 100
8
;’:J‘ 0 1 - ] 1 ] 4 : | | | it 4 | 0
300 250 200 150 100 50 0 50 100 150 200 250 300
—=e—— Vacuum( AZ) Total pressure difference /A p 2% A p Pressure( /) ) — =
L] - L] -
@) (@ @18) J.IR WWW DLUR M IR




2RB 613-1HY99 Ordering data

THEHMMERZEERR 15CES, HSES 10183mbar W LR TMHR, £E £10%, WMAZSFIFE
mENEBE 25 CR, BIARIERSEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

Maximim Air flow | Maximim vacuum | maximim pressure | Sound-level Weight approx Vacuum rellet
- BARE mAEZE mAES B 5 ltems X type
RPM m*h mbar mbar dB(A) Kg 2BX
3000 265 -220 220 65
1 3600 2.55 315 -250 240 71
4200 3.0 400 -240 250 73
5000 38 480 -180 190 76 1%-:-2110/---2145
14
3000 3.0 265 -260 250 64 (Rv-01)
9 3600 345 315 -280 280 70
4200 4.3 400 -270 280 72
5000 50 480 -220 220 75

T 500 500
L 400 400
E

" 300 300
= 200 200
i:; 100 100
-:E%’ 0 [ | { ! ! ' 0

400 300 200 100 0 100 200 300 400
~—— Vacuum(HZ) Total pressure difference A p 2% /A p Pressure( E) ) ——=
. - . *
@) (@ @18) J.IR WWW DLUR M IR




2RB 713-1HY99 Ordering data

THEHAMERZEERR 15CES, HSES 1013mbar B TR TNER, R£E £10%, WAZSH
BEAEIT 25°CHf, BIANARIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar ¢
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

s BARE BAERN Items X type

RPM KW m*h mbar 2BX
3000 2.2 320 190

§ 3600 255 380 190
4200 3.0 440 160
5000 3.8 530 130
3000 3.0 320 270
3600 345 380 230

& 4200 4.3 440 220 16 1x::2110/+-2145
5000 5.0 530 210
3000 4.0 320 360

3 3600 46 380 310
4200 6.0 440 300
5000 6.9 530 270

600 — = e = — 600
T 500 {500
T 400 400
g 300 300
= 200 {— 200
§ 100 . _ 100
;§ 0 T i + } H H 0
400 300 200 100 0 100 200 300 400
—~==—— Vacuum( %) Total pressure difference A p BEZE A p Pressure(£7)) ——=—
N B v .
@) (@ @18) J.IR WWW DLUR M IR




2RB 723-1HY99 Ordering data

THEMEEHZERERR 15CES, HSED 1013mbar TR TNEE, £Z £10% WMASSFIRE
mEAEIT 25°Cht, BIRAZIERREE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

i iR BEEINE BARE mAHEZT 125 BE Items X type
i RPM KW m°h mbar dB(A) Kg 2BX
3000 4.3 320 -360 T3
1 3600 4.8 380 -350 75
4200 6.3 440 -310 78
5000 6.9 530 -240 84
3000 5.5 320 -420 73
3600 6.3 380 -440 75
2 4200 75 440 440 78 = 1211072145
5000 8.8 530 -440 84
3000 D 320 -440 73
3 3600 8.6 380 -460 75
4200 10.0 440 -460 78
5000 12.0 530 -440 84
Slection diagram
T 600 - 600
2 500 i~ 500
E 400 400
® 300 300
=
z 200 - 200
& 100 - j : - 100
g 0 —t ! 1 1 L 4 L e 0
600 450 300 150 0 200 400 600 800
—=—— Vacuum( Hz=) Total pressure difference /. p BJEE A p Pressure{ £7 ) ——=
L] - L] -
ORC o b () IR www ) - M IR




2RB 733-1HY99 Ordering data

THEHAMEREZZERK 15CES, HRES 1013mbar A TMUEN, £ZE £10%, WAZSFITE
imETEBIE 25°CHY, BIFIABIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

ltems X type
Kg 2BX
1
2 18 2%:--2110/---2145
3
800 800
T 700 700
= 600 600
. 500 2
S 400 - 400
> 300 300
£ 200 200
&5 100 100
350 300 250 200 150 100 50 0 100 200 300 400
—~-=—— Vacuum( H%) Total pressure difference A p B2E% A p Pressure( ff)) ——=
B - . o
@) (@ @18) J.IR WWW DLUR M IR




2RB 743-1HY99 Ordering data

TEAMAEREZEMIR 15CES, HSEN 1013mbar TR TUHA, £ £10%, WAZSFIFE
mETET 25ChY, BIFARIEREEE,

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO | Rated Speed | Rated power Maximim Air flow | Maximim vacuum | maximim pressure | Sound-level | Weight approx Vacuum rellet
- iR [[A=eES RAE BRAEE BREN BRE 58 Items X type
i RPM KW m?h mbar mbar dB(A) Kg 2BX

3000 5.5 500 -240 260 74
1 3600 6.3 600 -210 200 78
4200 7.5 700 -140 120 80
5000 8.8 800 -50 30 84
31 2x%---2110/---2145
3000 7.5 500 -240 320 73
2 3600 8.6 600 -270 300 75
4200 10.0 700 -200 200 78
5000 12.0 800 -110 80 84
Vacuum Selection diagram —Ezs i RIE % Compressor Celetion Diagram —E4giERIE %
T 900 — . - : 900
— 1 - 2
1 780 —H st > 7‘L’ —Cm—o0 750
£ — 2332".:.' | —
5 600 | o H&-E 600
2 450 — | e o 450
& 300 — /4 h"‘*\ '**--..._? 300
§ 150 ! " - \---*::N--— 150
. T
RS ' °
350 300 250 200 150 100 50 0 50 100 150 200 250 300 350
e Vacubm{ XX} Total pressure difference /A p BEZ A p Pressure( £]) ——
L - L]

O G @18) J.IR WWW DLUR M IR




2RB 813-1HY99 Ordering data

THEHAMEEHZZEHI 15°CES, HSES 1013mbar TR TMER, RE £10%, WAZSFIIFE
mEANEBE 25 CRY, BIIARERSEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO Rated Speed | Rated power | Maximim Airflow | Maximim vacuum | maximim pressure | Sound-level | Weight approx Vacuum rellet
g R BLEIhE BARE BARE mARED BRE £ Items X type
! RPM KW m¥h mbar mbar dB(A) Kg 2BX
3000 4.0 530 200 200 73
i 3600 46 620 160 160 75
4200 6.0 720 150 150 78
5000 6.9 830 140 140 84
3000 55 530 -300 300 73
3600 6.3 620 -300 280 75
2 4200 75 720 280 260 78 a8 Imeari e
5000 8.8 830 220 210 84
3000 75 420 -320 430 73
5 3600 8.6 620 -350 400 75
4200 10.0 720 -320 370 78
5000 12.0 830 270 330 84
Vacuum Selection diagram —E 2 %R [E 3k Compressor Celetion Diagram —E 481 E 3
1000 : | —1000
800 —— o , e i 800
= esithic 2
£ 600 M/ — Ty . 600
. i 1 it |
® 400 +—F—fH——5  _ = |- 400
> F
§ 200 = | _— 200
5
;5 0 | - 0
500 400 300 200 100 0 100 200 300 400 500
~-=—— Vacuum( ¥z ) Total pressure difference A p BFEE A p Pressure( [£77) ——=— m
L] - L] -
ORC o v © & WWW ) - o -




2RB 823-1HY99 Ordering data

THEAMEEE 2R 15°CES, HISE 1013mbar TR TUEE, £ £10%, WMASSFIFE
BEA#BE 25°Cht, BIAARIBREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO Rated Speed | Rated power | Maximim Airflow | Maximim vacuum | maximim pressure | Sound-level | Weight approx Vacuum rellet
) e ALEINE BARE BRET BXRED s EX ltems X type
RPM KW m*h mbar mbar dB(A) Kg 2BX
3000 75 520 -400 400 74
i 3600 86 620 -360 330 78
4200 10.0 730 240 220 81
5000 12.0 860 -100 80 84
3000 11.0 520 -430 600 74
5 3600 126 620 -460 600 78
4200 145 730 -480 360 81 64 1x:--4740/---4840
5000 176 860 -440 290 84
3000 15.0 520 -460 670 74
" 3600 173 620 -490 750 78
4200 21.1 730 -480 680 81
5000 24.0 860 -440 520 84

Vacuum Selection diagram — B % 17 I [l %

Compressor Celetion Diagram —EZ&i% % E%k

T 1000 1000
= 800 - 800
= 2/3
E 600 | 600
f 400 L — - 400
2 200 : 200
3 b
5 \M/
3 0 . 0
600 450 300 150 0 200 400 600 800
~c——— Vacuum{ f%) Total pressure difference /. p 2EE A p Pressure( [f] ) ——=—
' - . O" . ) . () WWW [+ 5 o




2RB 833-1HY99 Ordering data

THAMREMEZEMR 15CES, HSED 1013mbar TR TRLHAY, £E £10%, WATZSFIFE
mEEBIE 25 CHf, BIFIIXEIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO Rated Speed | Rated power | Maximim Airflow | Maximim vacuum | maximim pressure | Sound-level | Weight approx Vacuum rellet
- %R RENE BARE BAHZ BAES R 58 liemms Xiype
RPM KW m?h mbar mbar dB(A) Kg 2BX
3000 55 700 -200 190 73
3600 6.3 840 -180 180 75
! 4200 75 980 -110 90 78
5000 8.8 1140 -10 10 84
42 1x---4740/-+4840
3000 75 700 -270 260 73
3600 8.6 840 -270 260 75
2 4200 10.0 980 -250 220 78
5000 12.0 1140 -240 180 84

Vacuum Selection diagram —ELZ %R E =

Compressor Celetion Diagram —E4gi£E! El%

1200 T /-yo‘ = 1200
I 1000 o P Q&-—-—\v 1000
:’E 22"“;"“ -y = = P — \
.. 800 . 7¢" \l 800
5 600 . e T . 600
;é' 400 st I - | L& e e | — 400
& ]
- 200 / 200
400 300 200 100 0 100 200 300 400
—=—— Vacuum( A%) Total pressure difference A p BEE A p Pressure( Ef) ) ———
B - . .
O RC JUR (J.IK www olll: M IR




2RB 913-1HY99 Ordering data

TEAMAEEZIEMIN 15CES, HSES 1013mbar IR TMER, f£ZE £10%, WMAZSFIIFE
mEANEBIE 25°CRY, BIMIARIEREEE.

The performance curves are valid for pumping air at 15°Cat the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO Rated Speed | Rated power | MaximimAir flow | Maximim vacuum | maximim pressure | Sound-level | Weight approx Vacuum rellet
e iR RENE BRARE BRAHT BAERD L= E% Items X type
% RPM KW m?h mbar mbar dB(A) Kg 2BX
3000 8.5 1050 -190 190 74
1 3600 9.8 1250 -150 140 79
4200 12.0 1400 -60 80 82
3000 12:5 1050 -290 280 74
2 3600 145 1250 270 260 79 72 1%---750/--860
4200 17.5 1400 -250 240 82
3000 18.5 1050 -360 460 74
3 3600 213 1250 -380 420 79
4200 26.0 1400 -400 400 82
Vacuum Selection diagram —E ZSiERIER Compressor Celetion Diagram —E4Ei£RIE%
~ o 2;“;; e i G 2% |
% 1200 zm::: 42’/ / Q& 1200
< . |
£ 600 IR | L™ ] | — 600
e T
o --""""-..__
5 300 - = 300
5 .
3 Bi = 0
500 400 300 200 100 0 100 200 300 400 500
Vacuumy Rz} Total pressure difference A p BEZ A p Pressure( B/7) ——=—
WS : O G DURK . IK www DO UR M IR




2RB 923-1HY99 Ordering data

THAMEMEZEEMN 15CER, HRES 1013mbar B TR TMEA), £E £10%, WMATSFMFE
mEANEIE 25°CR, BIMAZIERREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO | RatedSpeed | Ratedpower | Maximim Alrflow maximim pressure | Sound-level Welon appras (Vcumele
. iR RENE EARE S AR BE 8 Items X type
RPM KW mh mbar mbar dB(A) Kg 2BX
3000 125 1110 2300 270 74
1 3600 145 1310 220 200 84
4200 17.5 1600 -150 130 87
3000 16.5 1110 410 370 74
2 3600 19.0 1310 340 300 84
4200 210 1600 270 240 87
3000 20.0 1110 440 500 74 1o seie-as
3 3600 230 1310 440 430 84
4200 280 1600 440 340 87
3000 250 1110 440 590 74
4 3600 290 1310 440 540 84
4200 350 1600 460 460 87

Compressor Celetion Diagram — &g 1% B [E 3

1800 1800
1
s _—— — N\ S
. 2 4 \ 1200
< 900 L il | e A 900
=
2 600 l V,_.f/ 7\\{_% 600
: N\ =7 ==t
f; 300 ‘ - e LY 300
i 0 T | 0
600 450 300 150 0 200 400 600 800
; vapsyny W) Total pressure difference A p 8% A p Pressure( &1 ) -
|
L] - % -~
@) (@ @18) J.IR WWW DLUR M IR




2RB 933-1HY99 Ordering data

THAMREZ R A 15°CES, HSET 1013mbar B TR TMLER, RE F10%, MAZSFFE
mEANET 25°CR, BILARIEIREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO Rated Speed | Rated power Maximim Air flow | Maximim vacuum | maximim pressure | Sound-level | Weight approx Vacuum rellet
. iR FLEIhE ATE BAEZ BAEN L=y 58 Items X type
N RPM KW m?h mbar mbar dB(A) Kg 2BX

3000 12.5 1370 -190 190 75

1 3600 14.5 1600 -150 150 80
4200 17.5 1850 -130 120 82
3000 15.0 1370 -280 260 75

2 3600 175 1600 -240 220 80 76 2x+-750/--860
4200 21.6 1850 -210 190 82
3000 18.5 1370 -310 320 75

3 3600 21.3 1600 -300 280 80
4200 26.0 1850 -260 250 82

Vacuum Selection diagram —E Z= £ 8! [E| &% Compressor Celetion Diagram —/E#giERIE =
T 2000 i I - 2000
x 2 1 -""‘" / \h\_ .01 2
= 1600 —f A 2 5 — — ——43 L
T 3 ,,-7) — “-—-.._%. \
1200 /7 _— e e ¥ 1200
™ — T — —\
< —1 _
B / I __--/ \"""--..._ —
-~ 800 o - { | 800
§ L )’ / T —
& 400 ~_5>—" o\ 400
;‘%% 0 1| i 0
400 350 300 250 200 150 100 50 0 50 100 150 200 250 300 350 400
Vacuum( K2 ) Total pressure difference /\ p BEZ A p Pressure( &/1) ———
LY - L] - - -
@) (@ &) © www DO UR M IR




2RB 943-1HY99 Ordering data

TEAMEEHZZEMI 15°CES, HSEHN 1013mbar TR TN EE, £ZE £10%, WASSFIFE
mEAET 25°ChY, BILARIEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressure of 1.013mbar and a
tolerance of +10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

NO | RatedSpeed | Ratedpower | MaximimAirfiow | Maximim vacuum Weight approx Vacuum rellet
. iR fEmhE RARE RAHT 3 Itemsx=type
Lt RPM Kw mh mbar mbar dB(A) Kg 2BX
3000 20.0 1940 -220 200 75
1 3600 230 2300 -160 130 84
4200 28.0 2700 -90 80 87
3000 250 1940 -300 300 75 "8 217501860
2 3600 28.0 2300 -280 250 84
4200 35.0 2700 -200 150 87

3000 I 3000
t 2500 - ————— ﬁm )’/’_4;13,_4’_—' 1 2 2500
§ 2000 — ”;‘““”“ } / \ 2000
5 1500 l A’f—-—-/ — \ —
2 1000 /"f‘/_./ — X7 1000
3 — FL—‘ 500
i 0 | 0
400 360 200 100 0 100 200 300 400
—e—— Vacuum{ %) Total pressure difference A p BEZ A p Pressure( 7)) ——=
Y 8 .

O G @18) J.IR WWW DLUR M IR




G-400 BFEFNINHK
G-400 Single and double stage




HINNEFE MR G_400 E4NEE~ES1X 1,000mbar BEE—mESTHEFRMNSHKXELSEN. SILEH, E-EkEEEE
]

HERSZZEHIA G_400 RIRERKX, BEES, MESHEMR. ME, RTHEBEERS, TEBRXEMSI, A8 G_400 EkE
AEATZNFGTEA.

G_400 BE=%R / R4t sEEN S 4E P RO F M TV E L T1E 20, 000 /At

EfISENRETEHERERSTRN TR TRERTIES, SRAENNRREESHEANET TRAZVEIR, BRI
T ENTREEENESE MRS,

G_400 iR ER, ETHHMMELEER, 50Hz/60Hz % 49-54 TH
ExHE, MEFFEMERIESE L2

Our revolutionary G_400 blower can create pressure difference of up to 1000mbar-more than any other gas ring pump.So far,the
systems used to reach these differential pressure ranges were much louder and larger-or subject to wear.Now the advantage of wear-
free operation cupled with a low noise level can also be used in most demanding applications.

The G_400 series side channel vacuum pump/compressor can work up to 20,000 hours without maintenance down time.

These specialist machines have proven their reliability under the harshest of conditions.
Their noise level was already impressively low,but our engineers and designers are able to make them even more quiet.

Selection diagrams and tables for G_400 Pages 49-54
Vacuum and pressure mode,50Hz and 60Hz
Details on voltages,footnotes etc see Page 72

oP&do

O G @18) J.IR www )



G A% -G-Series

GRS RARZFEDREMERAITEESEH (24E)

Selection and ordering data for side channel blowers in vacuum and pressure operation(Single phase)

iTRES = HZ
_ W oE E 33 BARE - R SmEN : :
- BER , - A X BE
MHIhE B E A
Order No. MOTOR ““‘:f;";;"“
_ Weight Stlbd Maximum Maximum Maximum
i approx fileseyte airflow vacuum pressure
+ available ex stock Fre-quency level ‘ T ltems x type
output voltage current
HZ KW A A KG dB(A) m*h mbar mbar
50 0.55 115/230 13/3.1 57 47 =230 290 1%...2110/...2141
« 4RB 210-0AV75-7 18
60 063 115/230 14.2/7 1 62 57 -270 320 1%...2114/..2142
50 1.5 115/230 19.4/9.7 58 47 -370 600 1x..2110/..2141
* 4RB 220-0AV75-7 30
60 1.75 115/230 20.6/10.3 62 60 -420 660 1x.,.2114/...2142
* 4RB 310-0AV71-7 50 0.94 230 9 18 57 66 =250 350 1%...2110/...2141
50 0.94 115/230 15.2/7.6 57 66 -250 350 1x..2110/..2141
« 4RB 310-0AV75-7 18
60 1.1 115/230 18/9 62 80 -280 390 1%...2114/...2142
50 1.5 115/230 19.4/9.7 59 65 -400 550 1x...2110/..2141
« 4RB 320-0AV75-7 32
60 175 115/230 20.6/10.3 63 76 -390 540 1x...2114/...2142
50 1.1 230 10.1 23 58 87 -300 380 1%...2110/..2141
* 4RB 410-0AA41-7
60 1.3 230 10.3 23 63 105 -350 390 1x.,.2114/...2142
LY - L] - -
@) (C o © WWW olll:




THEEMEEZEREMMIN 15CES, HSES 1013mbar B9 TR TN E A, 22 £10%, WASSSFIFE
mEAEIE 25°CRY, BIMABEREEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressureof 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

Vacuum Selection diagram 50Hz—— R Z% B E% 50Hz Compressor Celetion Diagram 50Hz —E4g;%&8/F % 50Hz
100 100

T 80 — 80

z

E 60 60

i

g 40 - 40

z

g 20 - 20

@ 500 400 300 200 100 0 100 200 300 400 500 600 700

~==—— Vacuum{ AZ) Total pressure difference A p BJEE A p Pr (EH) -
120 120
T 100 1ag
g 80 -~ 80
ﬁ 60 60
p
g 40 — 40
s 20 20
E 175
500 400 300 200 100 0 100 200 300 400 500 600 700
—~———— Vacuum( HZ2) Total pressure difference A p BREE A p Pressure( /) ——

O G DURK . IK www )




G &% -G-Series

HERN SRARZMEDREMERMITRSYE (=8, 8L

Selection and ordering data for side channel blowers in vacuu

ITHRS 5 & R
_ e 5 3= BARE B BWEAH -
- B : —— #m x WS
BT B E B
Order No. MOTOR Va"‘:f;,’:;_e"ef
Weight SQ"'.';“‘-". Maximum Maximum Maximum '
: Rated approx ReSesUrD airflow vacuum pressure
= available ex stock Fre-quency level : Items x type
output voltage ‘current
HZ Kw \ A KG dB(A) m*h mbar mbar
50 0.55 200-240 A /345-415 2.8 A BY 57 47 -230 290 1x...2110/..2141
+ 4RB 210-0AH16-7 16
60 0.63 220-275 /\ /380-480 IANTY 62 57 -270 320 1x...2114/...2142
50 0.55 200-240 A /345-415 28 A I.BY 57 66 -250 250 1x..2110/..2141
+ 4RB 310-0AH186-7 16
60 0.63 220-275 /\ /380-480 3ANTY 62 80 -260 250 1x.,.2114/...2142
50 0.81 200-240 A /345-415 4 A J2.3Y 57 66 -280 350 1%..2110/..2141
« 4RB 310-0AH26-T 17
60 0.94 220-275 A\ /380-480 4 /A 2.3Y 62 80 -340 360 1x...2114/...2142
50 1.1 200-240 A /345-415 54 A 81Y 58 87 -300 380 1%..2110/..2141
+ 4RB 410-0AH16-7 23
60 1:5 220-275 A\ [380-480 54 AJ3AY 62 105 -340 370 1x..2114/...2142
50 1.5 200-240 A /345-415 7.5 4 M43Y 64 120 -310 360 1%..2110/..2141
* 4RB 510-0AH16-8 26
60 1.75 220-275 /\ /380-480 7.6 A 14.4Y 68 145 -340 320 1x..2114/...2142
50 2.2 345-415 A\ /600-720 11.4 A 16.6Y 64 120 -310 470 1x.,.2110/...2141
* 4RB 510-0AH286-8 29
60 255 380-480 A /660-720 11.2 A /6.5Y 68 145 -360 480 1%...2114/..2142
50 2.2 200-240 A /345-415 11.4 A 16.6Y 65 165 -340 360 1x..2110/..2141
+ 4RB 610-0AH16-8 32
60 255 220-275 /\ /380-480 11.2 A 16.5Y 71 195 -360 315 1x...2114/...2142
50 3.3 200-240 A /345-415 13 & f1.5Y 65 165 -340 480 1x...2110/..2141
+ 4RB 610-0AH36-8 35
60 38 220-275 A\ /380-480 14.2 A\ 18.2Y 71 195 -380 530 1x...2114/...2142
L] - L] i
. (@) o . IK WWW olll:




THAMEEZZ AR 15CESR, HSES 1013mbar (TR TMER, RE £10%, WAZSFIFE
mEA T 25 CRY, BIANARIERSEE.

The performance curves are valid for pumping air at 15°C at the inlet flanges with an air pressureof 1.013mbar and a
tolerance of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

Vacuum Selection diagram 50Hz —— H 255 EIE % 50Hz Compressor Celetion Diagram 50Hz —[E48;%£8IE % 50Hz

200 — — . . . . . . e —— e — . 200
T 150 150
« 100 ~100
=
2 50 ~50
§
g 0 |- 1 il | 1 ! ! - - -l [ ! — 0
a 400 300 200 100 0 100 200 300 400 500

- Vacuum( =)

200 200
T 150 150
E
w 100 1100
2
E 50 = - 50
g
a 400 300 200 100 0 100 200 300 400 500 600

—==—— Vacuum( HZ) Total pressure difference A p BEZE A p Pressure( 1)) ——=
(=] [m]
) - . £ O‘ A o » [ ] E wWww




G A&7% -G-Series

BRI SRARZMEDREMERMNITHEH (ZR)

Selection and ordering data for side channel blowers in vacuum and pressure operation(Multi-stage)

RS g 3k HZE
: i E BE R AT E REED BEED
- BEF : A x BE
= B E B
Order No. MOTOR el
. Sound- » Maxi -
Rated Weight Pioksine. Malxr;rr;qm aximum Maximum
» available ex stock Fre-quency approx level Ao vaeudm P e ltems x type
output voltage current
HZ Kw v A KG dB(A) m?h mbar mbar
50 0.81 200-240 A [345-415 4 N f2.3Y 58 47 -370 490 1%...2110/...2141
* 4RB 220-0AH26-7 24
60 0.94 220-275 [\ /380-480 4 A 2.3y 62 60 -440 480 1%...2114/...2142
50 1.5 200-240 A [345-415 7.5 AA3Y 58 47 -370 650 1%..2110/..2141
* 4RB 220-0AHS56-7 28
60 1.75 220-275 A\ /380-480 7.6 A J4.4Y 62 60 -500 740 1%...2114/...2142
50 1.1 200-240 A /345-415 54 ABAY 59 65 -400 480 1x%...2110/..2141
* 4RB 320-0AH46-7 29
60 1.3 220-275 A\ 1380-480 54 ABAY 63 76 -480 480 1x...2114/...2142
50 1.5 200-240 A /345-415 7.5/ /4.3Y 59 65 -440 540 1x%...2110/..2141
« 4RB 320-0AHS56-7 30
60 1.75 220-275 A\ 1380-480 7.5 A l4.4Y 63 76 -560 600 1x...2114/...2142
50 1.5 200-240 A /345-415 7.5 A/A3Y 61 87 -480 450 1x%...2110/..2141
« 4RB 420-0AH26-7 33
60 1.75 220-275 A\ [380-480 76 A 14.4Y 66 105 -430 410 1x...2114/...2142
50 3.3 200-240 A [345-415 13 A MDY 61 87 -500 750 1%...2110/..2141
* 4RB 420-0AHS56-7 39
60 3.8 220-275 A\ 1380-480 13.8 A\ /BY 66 105 -510 850 1%...2114/...2142
50 g 200-240 A 1345-415 11.4 A [6.6Y 64 120 -470 460 1%...2110/...2141
* 4RB 520-0AH26-8 40
60 2.55 220-275 A 1380-480 11.2 A 16.5Y 70 145 -500 450 1x%...2114/...2142
50 4 345-415 A 9 A B85 120 -500 820 1%...2110/...2141
* 4RB 520-0AH77-8 51
60 4.6 380-480 A 95 A 71 145 -530 810 1x%...2114/..2142
50 3.3 200-240 A 1345-415 13 A JT.5Y 67 165 -480 500 1%...2110/...2141
* 4RB 620-0AH36-8 48
60 3.8 220-275 A 1380-480 14.2 A 18.2Y 71 195 -480 420 1x%...2114/...2142
50 5.7 345-415 A 125 A 68 165 -460 740 1%..2110/..2141
* 4RB 620-0AHS57-8 65
60 6.6 380-480 A 12 4 72 195 -480 840 1%...2114/...2142
50 7.5 345-415 A 16 A ¥2 170 -730 1040 1%...2110/..2141
* 4RB B30-0AHE7-8 86
60 8.6 380-480 A 16 A 76 200 -700 1040 1x...2114/...2142
R = N Em
" O G o J.IR WWW olll:




THEMMEEHMEREMR 15CESR, HSEAN 1013mbar IR TMHR, £E £10%, WAZSIFE
mEA T 25°CRY, BIAR|ERSEE.

The performance curves are valid for pumping air at 15 °C at the inlet flanges with an air pressure of 1.013mbar and a tolerance
of £10%.The total pressure differences are valid up to an intake and ambient temperatrue of 25°C .

ction diagram 50Hz  EZnARIE% 50Hz
200 200
T 150 - 150
£
« 100 100
2
z
: 50 50
E
H 0 . . . N Y Y A
800 600 400 200 0 200 400 600 800 1000 1200

——=——  Vacuum( HZ) Total pressure difference /A p BEE A p Pr (EH) -

"Vacuum Selection diagram 60Hz  RZ #BJF% 60H

T 200
I 150
=
E
« 100
=
§ 50
é o 173
@ 800 600 400 200 0 200 400 600 800 1000 1200
~—— Vacuum( %) Total pressure difference A p B2EZE A p Pressure( £/ ) —m=—
[m]zs[m]
A = Py Em ...

O G DURK . IK www




2RB210./2RB230./2RB310./2RB330

Yud
)
~
"~ 9
YxZ 120
5
o
® - e e 5
£
k-2
Y *Q\ /
| 1 =4 2(f==
| 1
| T 1
| | 2
N K M-l |2
£ =]
2 IS
o= =
1
-
o
e AlB[c[o|E]Fle[rH[J][K[L][M][N]O P Qe[S | U Vi W Wiy st ¥Yxz
2RE 210-TAHOE 3~ 246 | 247 | 90 | 205 | 230 | 219 | 82 128 | 111 B3 108 | 75 kil 39 Gyl 1508 = deep) 64 10 25 MEx 1T - - M25x1.5 M1E= 1.5 MG 15 05120072407 140
2RB 210-7AV1S 1= 246 | 247 a0 205 | 230 | 256 | 135 | 128 11 a3 108 75 T a9 G140 15t - deep) 64 10 25 MEx17 M16x1.5 M25x1.5 - - ME=15 0% 120772400 140
2RB 210-TAH16 3~ 246 | 247 a0 205 | 230 | 256 | 135 | 128 1M1 B3 108 75 T it G1,,{ 15t + deap) 64 10 25 MEx1T == - M25%1.5 Migx15 MEx15 0% 120%240" 140
2RB 210-TAA1T 1~ 248 | 247 an 205°( 230 | 256 135 | 128 | 111 B3 108 75 T k] G1,,[15te « deap) 64 10 25 MEX 1T M1Bx1.5 M25x1.5 = = ME&x15 O 12072407 140
2RE 230-TAHOE §~ 245 | 247 a0 205 | 230 | 242 | 102 | 128 | 11 :x] 108 75 82 35 Gyl 15te - deep) B4 10 25 MG 1T - - M25% 1.5 Mig=1.5 MEx15 05 120%240° 140
2ZRE 230-TAH1E 3~ 245 | 247 a0 205 | 230 | 267 | 135 | 128 11 :x1 108 ¥l az 39 51,1566 - deep) 64 10 25 MEx 17 - - M25% 1.5 MiGx1.5 MEx15 0°120%240° 140
2ZREB 230-TAHZE J~ 248 | 247 a0 205 | 230 | 267 | 135 | 128 | 1M1 B3 108 75 B2 a9 G150 * deep) &4 10 25 ME=1T = = M25% 1.5 M16x 1.5 MEx15 0°120%240° 140
2RB 230-7AV15 i 248 | 247 90 205 | 230 | 267 | 135 | 128 11 a3 108 75 82 39 G1,,{1508 * deep) B4 10 25 MEX 1T M16x 1.5 M25x1.5 = - MEx 15 0°r120%240° 140
2RB 230-TAAT1 B 245 | 247 80 205 | 230 | 267 | 135 | 128 m :x] 108 75 82 39 Glyu{15tie - deep) 64 10 25 MBx 17 M1Ex 1.5 M25% 15 — - MEx 15 0°r1200/240° 140
2RB 310-TAHOE 3~ 268 | 272 a3 205 | 230 | 280 | 135 | 141 11 a3 108 az B9 41 G1,,(156e « deep) 64 10 25 ME= 17 - - M25x1.5 MI6® 1.5 ME=15 07 120°240° 160
2RB 3D-TAH1E 3~ 268 | 272 83 205 | 230 | 280 | 135 | 141 m B3 108 Bz 69 41 G1,.{15tie * desp) B4 10 25 ME2 1T == =2 - - ME= 15 0*/120%/240" 160
2RB 310-TAADT = 268 | 272 83 205 | 230 | 260 | 135 | 141 1 a3 108 82 9 41 G1,,(15tie = deep) 64 10 2.5 ME= 1T MIGx1.5 M25x 1.5 - - ME= 15 0° 12071240 1680
2RB 310-TAAN i 288 | 272 93 205 | 230 | 2860 | 135 | 141 m 83 108 az B9 41 G1,.( 158 » deep) 23 10 25 ME =17 MIGx15 M25x15 - - ME> 15 0*120%1240° 160
2RB 330-TAHDE 3~ 268 | 272 a3 205 | 230 | 276 [ 135 | 141 m &3 108 a2 a5 41 G14{15tie - deap) B4 10 25 ME =17 - - M25x1.5 M16x1.5 ME 15 e 20°240° 180
2RB 330-TAH16 3~ 268 | 272 a3 205 | 230 | 278 | 135 | 141 m 83 108 a2 a5 41 B1,,[15tie « deep) B4 10 25 ME= 17 = = M25x15 M16x 1.5 MEx 15 07120712407 180
2RBE 330-TAATT 1~ 268 | 272 93 205 | 230 | 276 | 135 | 141 m 83 108 a2 a5 41 G115 + deep) 23 10 25 ME= 17 M16= 1.5 M25x1.5 e - MB =15 0712072407 180
L] L] o = =
@) (&) @ www olll:




2RB 410./2RB430./2RB490.

YxZ 20
\
& |
S \
m . e e B ¥ |
% | ¢ /
B . o/
1 - N
i 7 e
o
| R | | 120°—
[~ i 1
I I

| p23

- + K et ] 2

2 &

- K v & 5 L : i

(= -

| i F o

- z
E F -
s # (A|B|c|D|E|F H KL |M|N E R Vi Vi Yxz

2RE410-TAATT i~ 286 | 302 | 115 | 225 | 225 | 294 | 156 | 154 | 120 [ 95 | 130 [ TFO 75 46 G1y,(15lie - deep) T2 12 M16x 1.5 M252 1.5 - - ME= 15 o 2072407 174
ZRBA1O-TAAZT 1~ 286 o2 115 | 225 | 225 | 204 156 154 120 a5 130 T 75 48 &1y 1542 « deep) 72 12 ME= 19 M16x1.5 M25x1.5 = - ME= 15 o 2002407 174
2RBA10-TAVZS 1~ 286 | 302 | 115 | 225 | 225 | 204 156 | 154 120 o5 130 70 75 45 B1,5(15tie + deep) T2 12 ME* 19 M16x1.5 M25%1.5 = - ME=15 05120772407 174
2ZRBA10-TAHOG = 286 | 302 | 116 | 225 | 225 | 269 | 129 | 154 | 111 85 | 130 | 70 75 46 G50 158 - deep) T2 12 MG 19 - - M25x15 M1E=x15 MG 15 V2002407 174
2RBA10-TAH1G 3~ 286 | 302 15 225 | 255 | 292 156 154 120 a5 130 70 75 48 1,515l - deep) T2 12 MG 19 = - M25x1.5 M16x15 MEx 15 0F 120072400 174
ZRBA10-TAH26 A~ 286 | 302 15 225 | 255 | 202 156 154 | 120 o8 130 70 75 48 G1,5(15tie + deap) 72 12 ME=19 - . M25%1.5 M1Ex 1.5 MEx 15 012072407 174
2RB 430-TAAY 1~ 286 | 302 115 | 225 | 2585 | 3N 156 154 | 120 05 130 70 75 46 G1,.(15tie « deap) 72 12 MBE*19 MIEX15 M25x% 156 — - ME= 15 0% 1207240° 174
2ZRE 430-TAAZY 1= 286 | 302 | 115 | 225 | 255 [ 311 | 158 | 154 | 120 [ 95 | 130 | 7O 75 48 Gyl 150 + deep) T2 12 MEx 19 MiBx=15 M25%1.5 = — MEx 15 Q512077240 174
2RB 430-TAHOE 3~ 286 | 302 115 225 | 255 | 288 129 154 m a5 130 70 75 48 G,z 150 = deep) T2 12 MEx19 - - M25%1.5 M16x 1.5 MEx15 05120072407 174
2AB 430-TAH1E 3~ 286 | 302 115 225 255 n 156 154 120 a5 130 T0 75 46 G1,:{156e + deap) Firs 12 M6 19 - - M25%1.5 M16x 1.5 ME>15 0°120% 2407 174
2RB 430-TAHZ26 g 286 | 302 1s 225 | 255 | 31 156 154 120 a5 130 TO 75 A6 G1,5{15te * doep) 72 12 Me=19 - - M25x%1.5 M1G*1.5 MEx 15 071200240 174
2RB 430-TAV25 1~ 286 | 302 15| 225 | 265 | 311 156 154 | 120 95 130 TO T5 48 G1,5{15te « deap) 72 12 ME=19 M1&x 1.5 M25x 1.5 - - MEx15 01207240 174
2RB 490-TAV25 1~ 286 | 302 15 225 | 255 | I 155 154 120 95 130 ) s 46 51, 15tie « deep) 72 12 MB > 19 M1Ex 1.5 M25x 1.5 -— =+ M= 15 0" 12072407 174
2ZREB 490-TAH1E 3~ 286 | 302 15 | 26 | 255 311 156 154 120 95 130 70 75 48 G1.,{15tkie - deep) T2 12 MG 19 - - M25x 1.5 MiEx1.5 MBx15 0120712407 174

) . . ~

O o @ WwWw ()




2RB220./2RB320./2RB420

- A -
= A i
YxZ
v = -
i - 32 -
Vv 60"
= YxZ
LAY LAY
i
]
a a
L4 Al -
o g i ¢X
(=1
i i Y
s W 120°
u s 120°
T = e T
i b
o -_—
T 1 1 )
pols #R v la N e KM= %
el P l L ! g
I
- 9 D — F E
- E =
s HE | A|A| B DI|E|F|G|H[H|J|K|L|M|N]O, P Q| R |5 | T U M Migy x| -2
SRE2207HHZE | 3~ | 284 | 316 | 270 | 45 | 208 | 230 | 318 | 135 [ 128 | 108 | am | 83 | 108 | 75 | 130 | 38 | Glutsve-deep) | 64 | 10 | 25 | 8 | mexi? | - Misx15 | 27 | 140 | Mex1s | s1amizent
2RE320-THHIS | 3~ | 293 | 324 [ 208 | 47 | 205 | 230 | 384 | 160 | 141 | 14 | 120 | 83 | 108 | 82 | 138 | a1 | Gl.te-ceep) | 84 | 10 | 25 | e | wmexwy | - — | mesxis | misxis | 27 | 160 | Mexts | srmieert
2RBATHHAY | 1~ | 203 | 324 | 285 | 47 | 205 | 200 [ 964 | 160 | 141 | 14 | 120 | 83 | 108 | 82 | 138 | 41 | GiuttSte-desp) | 64 | 10 | 25 | o2 | Mext7 [M2sx15| Misx1s | - 2t | 180 | Mexis | s17iEs
2RE 420-THH38 b 322 | 324 | N5 58 225 | 255 | 401 181 154 | 153 | 128 a5 130 T3 181 45 G1,.{156e « deep) T2 12 3 104 MB =18 - - M25%1.5 M16x1.5 287 174 | MEx15 517117142917
2RE 420-THH48 Joo 32 | 34 | N5 58 225 | 255 | 401 181 154 153 128 85 130 T3 151 45 G1,.{15te « deep) T2 12 3 104 MB =18 - - M25x 1.5 M16x1.5 28° 174 | MBx15 517117172917
2RB 420-THA3Y 1~ | a2z |32 | 315 | ss | 225 | 285 | 400 | 101 | 184 | 153 | 128 | 85 | 130 | 73 | 151 | 45 | GlaiiSve-deep) | 72 | 2 | 3 | 104 | mexis |miex1s | M2sxis | — - 2 | 174 | Mexis | smTiEe
2RB4207AV45 | 1~ [ 322 | 324 | 315 | 58 | 225 | 265 | 401 | 191 | 164 | 183 [ 128 | 5 [ 130 | 73 | 151 | 45 | Gluitve-deep) | 72 | 12 | 3 | 104 | Mex1s |miex15 | M2sx15 | — - 28 | 174 | Mex1s | s1TiEEt
. . s = =
ORC (&) @ www olll:




2RB 510./2RB530./2RB590.

- A s
YxZ Vv ot ] -
i -0 -
Vv (YR
] iz / 120°
N
= X
= 2
3
©
J‘.
B
| u
\/‘( e ’
= / /
R
1
i
(5] @
o - - b ) e M —_—— =M o L
(=1
- 3 - - L o ®
=
- D - F -
- E -

e @z | A |B|C|D|E S L m|nNfo]|er 5| wu Vg Vi ¥Yxz | &
2RES10-TAAT 1~ | 334 | 337 [ 120 | 260 | 205 | 314 | 156 | 175 [ 120 | 115 (155 | 96 | a7 | 48 | 55 | B3 [ 14 | 4 | MBx17 M16% 1.5 M25% 1.5 - - MB %20 0°/120°/240° 200 29
2RBS10-TAAZY 1~ | 334 | 337 [ 120 [ 260 | 295 | 345 | 191 | 175 [ 128 | 115 [ 155 | 96 | 87 | 48 | 55 | 83 [ 14 | 4 | M@x17 M16% 1.5 M25% 1.5 - - MBx 20 0°/120°/240° 200 29
2RBS10-TAVIS 1~ | 334 | 337 [ 120 | 260 | 205 | 345 | 199 [ 175 [ 128 | 115 [ 155 | 96 | 87 | 48 | 55 | 83 [ 1 | 4 M8 x 17 M16% 15 M25% 1.5 - - M&x 20 0°1120°1240° 200 ]
2RE510-7AHDE 3~ | 334|337 | 120 | 280 | 295 | 314 | 156 | 175 [ 120 | 115 | 155 | 96 | 87 | 48 | 55 | 83 | 14 | 4 | MBx17 - - MI5%15 MIBX 1.5 M8 20 0°/120°/240° 200 )
ZRBS10-TAH1E 3~ | 334 | 3ar | 420 | 260 | 205 | 314 | 158 | 175 | 120 | 115 (155 | 96 | &7 | 48 | 55 | 83 | 14 | 4 M 17 = - M25x 1.5 M1B* 15 M8 20 07 120°1240° 200 29
2RBS10-TAHZE 3~ | 334|337 [ 120 | 260 | 205 | 346 | 191 | 175 [ 128 | 145 | 155 | 96 | &7 | 48 | 55 | 83 | 14 | 4 Mg 17 - - M25% 1.5 Mi6x 1.5 M8 20 0°/120°1240° 200 29
2RBS10-TAHIE 3~ | 234|337 (120 | 260 | 205 | 346 | 191 | 175 | 128 | 115 | 155 | 96 | 67 | 46 | 55 | 83 | 14 | 4 Max 17 - - M255 1.5 M16x 1.5 M8 % 20 012071240 200 2
2RB 530-7AA11 1~ | 334 [ 337 | 120 | 260 | 295 | 334 | 156 | 175 | 120 | 115 | 155 | 96 | &7 | 48 | 55 14 | 4 M8 17 M16x 1.5 MI5% 15 - - M8 20 0% 20°1240° 200 20
2R 530-TAAZ1 1~ | 334 | 337 | 120 | 260 | 205 | 365 | 191 | 475 | 128 | 115 | 155 | o8 | &7 | 4B | 55 | 83 | 4 | 4 M8 17 M16%1.5 M253 1.5 - - MBx 20 S20°1240° 200 29
2RE 530-TAHOG 3~ | 334 | 337 | 120 | 260 | 295 | 334 | 156 | 175 | 120 | 115 | 155 | o6 | &7 | 48 | 55 | 83 | 14 | 4 M 17 - - M2531.5 M16x1.5 M8 %20 0712071240 200 24
2RE 530-TAH1E 3~ | 334 | 337 | 120 | 260 | 205 | 334 | 156 | 175 | 120 | 115 [ 155 | 96 | 87 | 48 | 55 | 83 | 14 | 4 M8 17 - - M25% 1.5 M1BX 1.5 M8 % 20 0°120°240° 200 2
ZRBS30-TAHZE | 3~ | 334 | 337 | 120 (260 | 295 | 365 [ 191 | 175 | 128 | 115 | 155 | 96 | B7 | 48 | 55 | 83 | 14 | 4 Max 17 - - M25% 1.5 M1Bx1.5 WA =20 0°/120°240° 200 29
2RB 530-TAHIE 3~ 334 | 337 | 120 | 260 | 205 | 365 | 191 | 175 | 128 | 115 [ 156 | 96 | &7 | 48 | 55 | 83 | 14 | 4 M 17 - - M25% 1.5 M1BX 1.5 M8 20 0%120240 200 2
IRE 530-7AV35 1~ | 334 | 337 | 120 | 260 | 295 | 385 | 191 175 | 128 | 115 | 155 | o6 | A7 | 48 | 55 | 83 | 14 | 4 Mg 17 MiBx 15 M253 15 - - M8 % 20 0°/120°240° 200 29
2RB 590-TAHZE 3~ | 334 | 337 | 120 | 260 | 295 | 385 | 191 | 175 | 126 | 195 | 155 | 96 | B7 | 48 | 55 | 83 | 14 | 4 | M8X17 - M25% 1.5 M16X 1.5 WM& 20 0°120%/240° 200 29

i = 5 > - -
O JC @ wWWW



2RB 610./2RB 630./2RB710/2RB730./2RB790

A o
YxZ Vv = G
i - \..'\l’ -
[} -
vy (TRY] i
a8 1200
B YxZ d
1 &
m *
R:d
¥
h-8
u
1 7& — N *» .r’
o
! 4R
! 1
i i
e o 120°
w - P = -0 - - M - M- = 20
(=3
L C - kS
= o = Ly i
E -
Type Phases : ) :
B i B D E|F HlJ|K|L M Q %R | 8 u Moy | Vs | Vigy Wiy : : X w
2RB 610-TAHDS 3~ | 380 | 386 | 122 | 200 | 325 | 3%4 | 191 | 182 | 128 | 140 | 180 | 84 s6 | ea | 13 | 45 | Mex17 = - M25x15 | M16x15 | MBx20 | 07/120°240° 228 29
2RB B10-TAH1E 3~ | 380 | 386 | 122 | 200 | 325 | 354 | 191 | 182 | 128 | 140 | 180 | a4 56 | B3 | 13 | 45 | Mex17 - - M25%15 | MIBx15 | M8x20 | 0°/120°240° 226 29
2RB 610-TAH2E 3~ | 360 | 366 | 122 | 200 | 325 | 385 | 188 | 182 | 135 | 140 | 180 | 84 56 | 83 | 13 | 45 | mex17 |Mazx15| Mazx1s | Mazx15 | mMa2x1s | mexao | ovrz200j2400 226 42
2RB B30-TAHDS 3~ | 380 | 386 | 122 | 200 | 325 | a7z | 191 | 182 | 128 | 140 | 180 | 84 56 | 83 | 13 | 45 | mexw - - M25x15 | Migx15 | MBx20 | 0°/120°240° 228 28
2RB 630-TAH16 3~ | 380 | 386 | 122 | 200 | 325 | 372 | 191 | 182 | 128 | 140 | 180 | a4 56 | B3 | 13 | 45 | mex17 = = M25%15 | M1Bx15 | M8x20 | 0°/120°7240° 226 29
2RB B30-TAH26 3~ | 360 | 366 | 122 | 200 | 325 | 403 | 188 | 182 | 135 | 140 | 180 | 84 56 | 83 | 13 | 45 | mex17 |mazx15| Mazx1s | Mazx15 | mMazx15 | Mexzo | 02002400 226 42
2R8 T10-TAH11 1~ | 382 | 384 | 125 | 200 | 325 | 404 | 218 | 197 | 128 | 140 | 160 | 84 | 109 | 54 | 55 | 83 | 15 | 45 | Mex17 |m2sx15| misx1s - = M10%20 | 0°120%240° 240 20
2RB 710-TAHDS 3~ | 282 | 384 | 125 | 200 | 325 | 377 | 191 | 197 | 128 | 140 | 180 | 84 |09 | 54 | 55 | 83 | 15 | 45 | mex17 = = M25x15 | MiBx15 | MI0x20 | 0°120°2400 240 29
2RB T10-TAH16 3~ |82 | 384 | 125 | 200 | 325 [ 377 | 191 | 197 | 128 | 140 | 180 | 8s | 109 | 54 | s5 | 63 | 15 | 45 | mexa7 =S = = = Mi0x20 | 0°120°240° 240 29
2RB 710-TAH26 3~ | 382 | 384 | 125 | 200 | 325 | 408 | 188 | te7 | 135 | 140 | 180 | 84 | 108 | 54 [ 55 | 83 | 15 | 45 | Mex17 |m32x15| M3zx15 | mMazx1s | mIzxts | Mioxz0 | 07/120°240° 240 42
2RB T10-TAH3T 3~ | 382 | 384 | 125 | 290 | 326 | 432 | 200 | 167 | 148 | w0 | 180 | 84 | 109 | 54 | 55 | B3 | 15 | 45 | MBx17 |mM3azx15| M32x15 | M32x15 | Mazx15 | Miox20 | 02002400 240 a2
2RB T30-TAHDS 3~ | 382 | 384 | 125 | 200 | 325 | 387 | 191 | 167 | 128 | w40 [ 180 | 84 [ 109 | 54 | 55 | B3 | 15 | 45 | M8x17 |M25x15 | Miex15 - = M10%20 |  0°120°/240° 240 29
2RB 730-TAH16 3~ | 382 | 384 | 125 | 200 | 325 | 367 | 191 | 197 | 128 | 140 | 180 | 84 | 108 | 54 | s5 | 83 | 15 | 45 | mex17 |M2sx15| Miex1s - = M0x20 | 0°120°/240° 240 29
2RB 730-TAH26 3~ | 382 | 384 | 125 | 200 | 325 [ 419 | 189 | 167 | 135 | w40 | 180 | 84 | 109 | 54 | 55 | B3 | 15 | 45 | mex17 |mM3zx15| MIzx15 | MIzx15 | MI2x15 | Mi0x20 | 0°120°240° 240 42
2RB 730-TAH3T 3~ | 382 | 384 | 125 | 200 | 326 | 432 | 209 | 197 | 148 | w40 [ 180 | 84 | 109 | 54 | 55 | B3 | 15 | 45 | MBx17 |M32x15 | Ma2x15 | M32x15 | Mazx15 | Miox20 | 012002400 240 4
2RE 790-TAH26 3~ | as2 | 384 | 125 | 200 | 325 | 377 | 185 | 197 | 128 | 140 [ 180 | 84 | e | 54 | 55 | 83 | 15 | 45 | mex17 - = M25x15 | MiBx15 | Miox20 |  0v1207240° 240 29
. - . = = =
@) (&) @ www olll:




2RB 720.-..4.
=D,

2RB 520.-...4. 2RB720.-...1.
=i

=

2RB 740.-..4.
-...5.

2RB 740.-...3.

= ,; 2 - E -
4+ A - G—
P ¥ W= # la} i ¥XE s 4
[ 3 A 3
o ) i o
[} ¥ 3 vy (=
s iy v i 2 5-0?3_‘5- 1 i I
- 208 ' I _ o = |
m 1 - o= ST @ ! =2
i IX i ;
u % o u @
= ’ s = o s
i * * o i .3} = N s
= 7 1 H
- - = ! Ly s [ ' 2
o == @R Hpl i )
2 Ala L r [ N TR T 5 .0 |[#R | @ BN KM -
L& L Tl ¢ a g -C I
- o - . ~ 8] -
- E - ) Ea E =
. 518 -
¥xZ -
i - YxZ 120°
g o
o 120° J
N
120¢
i
B B EDA[ER|iE HIH|[ 3 [K|LIM[N e a s|1] v v e Vi v ox | =z
ZRBS20-THHAE 3~ a2 | a1 |37 | 60 | 260 [ 205 | 465 | 190 | 175 | 144 [ 135 | 115 | 155 | e8 | 171 | 48 | 55 | 83 | 14 | 4 | 116 | MBx1T | MIZx15 | MIZX15 | MIZx15 | MIZx1S 200 B 20 51.57171.57201.5° 4z
2RBS20-THHST 3~ |ar2| 411 |37 | 60 | 260 | 295 | 490 | 224 | 175 | 144 [ 435 | 115 | 185 | 98 | 171 | 48 | 55 | B3 | 14 | 4 | M6 | MEx17 | M3IZx15 | MI2Zx15 | MIZx15 | MIZX15 200 ME 20 51571715291 5 42
2RBT20-THH1B 3~ | 425|426 | 420 | 63 | 290 | 325 | 473 | 185 | 197 | 162 | 128 | 140 | 180 | &4 | 205 | 53 | 55 | 83 | 15 | 45 | 130 | mMEx17 | M25x15 | MIBX1S - - 240 | WMOx20 | 515°1171.8%201.5° 2
ZRET20-THH2G 3~ | 428|426 | 420 | 63 | 290 | 325 | 507 | 180 | 197 | 162 | 135 | 140 | 180 | 84 | 205 | 53 | 55 | 83 | 15 | 45 | 130 | MEx17 | M3Zx15 | MI2x15 | MIZxiSs | M3aZx15 240 | WMOR20 | B1.5°TI.5YR015" 42
ZRET20-THHIT 3~ | 426 | 426 | 420 | 63 | 200 | 325 | 526 | 200 | 197 | 162 [ 148 [ 140 [ 180 | 84 205 | 53 | 55 | 83 | 15 | 45 | 130 | MExIT | M32x15 | M32x15 | MI2x15 | MIZx1E 240 | MIo%20 | 5151TIE2O15° 42
2RET20-THHAT 3~ | 426 | 428 | 420 | 154 | 200 | 325 | 571 | 226 | 197 | 162 | 167 | 140 | 180 | 225 | 205 | w4 | 65 | 83 | 15 | 45 | 130 | MEx17 | M3Zx15 | M3Zx15 | M3Zx15 | M3Zx15 240 | Mioxz20 | 5157171525 4z
2RET20-THHST 3~ | 425 | 426 | 420 | 154 | 290 | 325 | 571 | 226 | 197 | 162 | 167 | 140 | 180 | 225 | 205 | o4 | 55 | 83 | 15 | 45 | 130 | MEx17 | M3Zx1S5 | MIZX15 | M3Zx1S | MA2x15 240 | WMMO%20 | 51.5°171.5%7201.5° 42
N L Al |ec|e|Bp | E|! 6 | H [ J K| L|M|N]O | o el u v 3 YxZ
2RE 740-7GH3T 420 | 488 | 125 - 290 | 325 | 526 | 200 | 257 | 148 | 140 | 180 | 84 | 205 | 114 55 83 645 Ma 1T 4XMIZX1E 240 M10=20 012002400
2RB 740-TGH47 3~ 420 | 488 - 308 | 20 | 325 | 571 | 226 | 257 | 167 | 140 | 180 | 225 | 205 | 114 55 83 15 645 M8 x17 4XM3ZX1E 240 M10x20 0°/120°/240°
2RB 740-TGHST 3~ 420 | 488 - 308 | 200 | 325 | sS71 | 226 | 257 | 167 | 140 | 18O | 225 | 205 | 114 55 83 15 645 Ma 17 4xM3ZX 15 240 M10%20 0°/120° 2407
[ - ) . ~ ~
O RC (&) @ www olll:




2RB 810./2RB 830.

2RB 820.-...1.

2RB 840.-...2.

T - |

us AlalBlBlc|p|lE|[F|IFP|e|H|H]|J]K|L | M|N|N]O|Ww[4R]S v wo| X ez X-Holes
2RBBIO-TAHOT | 3~ | 451 | — | 461 | 509 | 152 | 356 | 433 | 433 | 450 | 230 | 240 | — | 148 | 170 | 217 | 140 | 124 | — | 65 | 65 | 15 | 6 | 4xmamx15 | 42 286 M12x20 0°/120°/240°
2RBBIO-TAHIT | 3~ | 451 | — | 461 | 509 | 152 | 356 | 433 | 433 | 477 | 247 | 240 | — | 148 | 170 | 217 | 140 | 124 | — | 65 | 65 | 15 | & | 4xm32x15 | 42 286 M12x20 0°/120°/240°
2RBB10-TAHZT | 3~ | 451 | — | 461 | 509 | 152 | 356 | 433 | 433 | 477 | 247 | 240 | — | 148 | 170 | 217 | 140 | 124 | — | 85 | 65 | 15 | 6 | 4xMa2x15 | 42 286 M12x20 0°/120°/240°
2RBEBR0-TAH1T | 3~ | 600 | 549 | 490 | 509 | — | 356 | 545 | 545 | 589 | 247 | 240 | 199 | 148 | 170 | 217 | 140 | 236 | 84 | 65 | 65 | 15 | 6 | 4xM3zx15 | 42 286 M12x20 58.5°(171,5°291.5°
2RBB20-TAH27 | 3~ | 500 | 549 | 490 | 509 | — | 356 | 545 | 545 | 589 | 247 | 240 | 199 | 167 | 170 | 217 | 140 | 236 | 84 | 65 | 65 | 15 | & | 4xM3m2x15 | 42 286 M12x20 58.5°171.5291.5°
2RBE20-TAH3T | 3~ | 500 | 549 | 400 | 509 | — | 356 | 545 | 717 | 694 | 318 | 240 | 199 | 197 | 170 | 217 | 312 | 212 | 84 | 105 | 65 | 15 | 6 | 4xMax15 | 54 286 M12x20 58.5°/171.51201.5°
2RBE20-TAHAT | 3~ | 500 | 549 | 490 | 509 | 152 | 356 | 545 | 717 | 694 [ 318 | 240 | 199 | 197 | 170 | 217 | 312 | 212 | 84 | 105 | 65 | 15 | & | 4axm3mx15 | 54 286 M12x20 58.5°(171.5°291.5°
2RBB30-TAHOT | 3~ | 451 | — | 461 | 509 | 152 | 356 | 449 | 449 | 466 | 230 | 240 | — | 148 | 170 | 217 | 140 | 139 | — | 65 | 65 | 15 | 6 | 4xmM32x15 | 42 285 M12x20 0°/120°/240°
2RBB30-TAHIT | 3~ | 451 | — | 461 | 509 | 152 | 356 | 449 | 449 | 492 | 247 | 240 | — | 167 | 170 | 217 | 140 | 139 | — | 66 | 65 | 15 | 6 | 4xMa2x15 | 42 286 M12x20 0°/120°/240°
2RBB3O-TAH27 | 3~ | 451 | — | 461 | 509 | 152 | 356 | 449 | 449 | 492 | 247 | 240 | — |67 | 170 | 2147 | 140 | 139 | - | 65 | 65 | 15 | 6 | 4xmax15 | 42 286 M12x20 0°/120°/240°
;; A e ! D i F G H | K L | ™ N | O | ¢ R s v w | oex | vz | XHoles
2RB B4D-TGH2T 3= 500 550 152 - 356 394 588 228 300 167 170 217 140 236 125 65 15 66 4xM3Zx15 42 286 M12%20 0°/120°7240°
2RB 840-TGH3T = £l 500 550 - 336 356 394 694 318 300 197 170 217 312 212 165 65 15 66 4xM40x1.5 54 286 M12x20 0°/120°/240°
. - -
@) W UR J.IR www olll:




2RB910./2RB930.

il

2RB920.

a I F o
; o - A 2
i i
o YxZ ik ) -I_ -
N I :dg\ = (@) YxZ 0
ot '!
= yxz | 51.4°
- | ® =
m = ¥x 1207 T__"_ S = 7 \: 1— s - i
= 22} %
T i o 1 U j a [l j_? g - X =
' “ i 1 | ) ‘ - N k 120°
o : J | ”1- } = 5 _ﬂl— - W
| [ 1
' s 120° | ""ﬂ == r 60a -
" ~H—c 20 I § |
F M ~l¢ - F M~
— K I D —N K !
= E p
B A1 AlB|B|c|C|B|E|F|P|FIe|H]|J | K|M|N|O| Q4R 8| U v W X ¥YxZ
2RBI10-TAHOT 3~ | 550 | 569 | 55 | 207 | 15 | 360 | 415 | 525 | 644 | 605 | 268 | 300 | 167 | 533 | 39 | o | 92 | 100 | 150 | 15 | 21 |M12x30 | 4xM32x15 | 42 490 M12%30 0°/120%240°
IRBI10-TAH1T 3~ | 550 | 569 | 55 | 207 | 15 | 360 | 415 | 611 | 644 | 605 | 345 [ 300 | 197 | 533 | 39 | 89 | 92 | 100 | 150 | 15 | 21 |M12x30 | 4xM32x15 | 54 490 M12x30 0°/120°1240°
2RB10-TAH3T 3~ | 550|569 | 55 | 207 | 15 | 360 | 415 | 611 | 644 | 605 | 345 | 300 | 197 | 533 | 39 | 89 | 92 | 100 | 150 | 15 | 21 |M12x30|4xm32x15| 54 490 M1230 0°/120°/240°
2RBI30-TAHOT 3~ | 550|569 | 55 | 207 | 15 | 360 | 415 | 563 | 682 | 643 | 268 | 300 | 167 | 533 | 39 | 127 | 92 | 100 | 150 | 15 | 21 [M12x30 | 4xM32x15| 42 490 M12%30 0°/120°/240°
IRBII0-TAH1T 3~ | 550 | 569 | 55 | 207 | 15 | 360 | 415 | 649 | 682 | 643 | 345 [ 300 | 197 | 533 | 3@ | 127 | 92 | 100 | 150 | 15 | 21 |M12x30 | 4xM32x15 | 54 490 M12%30 0°/120°/240°
2RB930-TAHAT 3~ | 550 | 569 | 55 | 207 | 15 | 360 | 415 | 649 | 682 | 643 | 345 [ 300 | 197 | 533 | 3@ | 127 | 92 | 100 | 150 | 15 | 21 |M12x30|4xM32x15 | 54 490 M12%30 0°/120%1240°
B faE A | A | B | B bl|EJF|FP|P|G|H|H|JIK|M|N Pl a i u ¥ w X YxZ
2RB920-7HHI7 | 3~ | 615 | 780 | 607 | 55 [1035| 15 | 360 | 415 | 752 | 786 | 634 | 345 | 300 | 236 | 1o7 | 533 | 30 | 230 | @2 | 100 (150 | 5 | 20 | 17 | mi2x30 | 4xm40x15 54 480 M12%30 51%/120°7240°
SRE920-THH2T | 3~ | @15 | 780 | o7 | 55 [1035| 15 | 380 | 415 | 752 | 786 | 634 | 345 | 300 | 236 | 197 | 533 | 3e | 230 | e2 | w0 | 150 | 15 | 21 | 117 | mizxa0 | 4xmaoxis | 54 480 MiZ«30 | 51%/120%240°
2RES20-7HHI7 | 3~ | 615 | 780 | 607 | 55 [1035| 15 | 360 | 415 | 752 | 786 | 634 | 345 | 300 | 236 | 197 | 533 | 3 | 230 | @2 100 |50 | 15 | 21 | 17 | mi2x30 | 4xmaoxi1s | 54 480 M12%30 | 519120°7240°
SRB920-THH4? | 3~ | &15 | 780 | so7 | 55 [1035| 15 | 360 | 415 | @12 | 786 | 634 | 345 | 300 | 236 | 197 | 533 | 3 | 230 | @2 | 100 [ 150 | 18 | 20 | 117 | mizxan | 4xmdoxis 54 480 M12%30 | 51°/120%240°
i - . = = =
O RC @ @ WWW




2RB940.

2RB943.

-5 —pP—
YxZ [
N 1 M8
|
. X 2
[ S N SN A SE————— N R -
o4 | 8 ]
bl X
(3 -
1
-
. |
l_l:il i
o
-
N K.
-
Yx7 o200
o
\ ' b
G | &

ETE) AlslB|cle|pleE]Flr|lea]H]u]k]|m] N]Jo[ep]al]ew U v W X YxZ X-Holes
2RB940-TBH2T 3~ 615 | 663 55 207 18 360 | 415 | 752 | 786 | 345 | 350 | 197 | 533 39 230 132 | 100 | 140 15 74 M12%35 | 4xM40x1.5 54 480 M12x30 0°/120%240°
2RB940-TBH3T 3~ 615 | 663 55 | 207 15 360 | 415 | 752 | 786 | 345 | 350 | 197 | 533 39 230 132 | 100 | 140 15 79 | M12x35 | 4xXM40x1.5 54 490 M12x30 0°120°240°
2RB940-TBHAT 3~ 615 | 663 55 207 18 360 | 415 | 752 | 786 | 345 | 350 | 197 | 533 39 230 132 | 100 | 140 15 74 M12x35 | 4 M40 1.5 54 480 M12x30 0°1120%7240°

Ae il A B G D E F B F G P | P | a v w YxZ

2RB243-TGH27" 3~ B15 723 307 490 526 1201 B4B 578 281 219 135 201 58 M8 40 4 M40 1.5 54 M12=10.5
2RB943-TGH3T" I~ 615 723 307 4580 526 1201 848 578 281 218 135 201 58 ME x40 AX M40 1.5 54 M12=10.5
2RB243-TGH4T" 3~ B15 723 307 490 526 1201 B4B 578 281 219 135 201 58 M8 40 4 M40 1.5 54 M12=10.5
b = i - -
@) (&) @ www olll:




4RB210./4RB310./4RB410./4RB510./4RB610.

G—=

© -vF
b 7 ¢
g Wi
AN | v N
i :
O)
X d d L 138
- 5 == &
1 ot
O Y
—
5 YxZ
5 N P
90°
T
__N_.L_ K—~|
M
b F
E
Type Phases
ae @ ([A|B|[B|c|D|E|[F|G|H|J|K|M|N|O P Q|¢R|[S |8 |8 [T |T u v Vi W ¢x | Y=z
4RB210-0AH16-7 3~ 294 | 319 | 39 87 | 260 | 208 | 293 | 129 | 167 | 111 | 105 | 252 | 65 | 124 | G11«(18deep) | &4 14 4 140 | 231 105 107 | ME=1T M25=1.5 M16x1.5 32 153 ME=15
4RB210-0AVT5-T 1~ 294 | 319 | 39 87 | 260 | 298 | 293 | 129 | 167 | 111 | 105 | 252 | 65 | 124 | G1w(18deep) | 64 14 4 140 | 3 105 107 | ME=1T M25=1.5 M16=1.5 32 153 ME=15
4RB310-0AH16-T 3~ 313 | 339 | 39 94 | 290 | 325 | 295 | 153 | 177 | 120 | 105 | 256 | &7 | 130 | G1w(18deep) | 64 14 4 140 [ 31 114 16 | ME=1T M25x1.5 M16x1.5 32 153 ME=15
4RB310-0AH26-T g 313 | 339 | 39 94 | 290 | 326 | 285 | 163 | 177 | 120 | 105 | 256 | 67 | 130 | G1lis(18deep) | 64 14 4 140 [ 31 114 116 | ME=17 M25x1.5 M16=1.5 32 153 ME=15
ARB310-0AHTI-7 1~ 313 | 339 | 39 94 | 290 | 325 | 295 | 153 | 177 | 120 | 105 | 256 | &7 | 130 | G1iws(18deep) | &4 14 4 140 | 3 14 116 | ME=1T M25=1.5 M16=1.5 32 153 ME=15
4RBI10-0AHTS-T 1~ 313 | 339 | 3 94 | 290 | 325 | 295 | 153 | 177 | 120 | 105 | 256 | &7 | 130 | G1iws(18deep) | 64 14 4 140 | 231 114 116 | ME=1T M25=1.5 M16x1.5 32 153 ME=15
ARB410-0AH16-T 3~ 346 | 375 | 38 | 103 | 315 | 350 | 321 | 153 | 195 | 120 | 130 | 260 | &6 | 143 | Glws({18deep) | 64 14 4 140 | 3 125 127 | ME=1T M25=1.5 M16=1.5 32 167 ME=15
4RB410-0AA41-T f== 346 | 375 | 38 | 103 | 315 | 350 | 321 | 153 | 195 | 120 | 130 | 260 | 66 | 143 | Glw(18deep) | 64 14 4 140 [ 31 125 127 | ME=17 M25x1.5 M16x1.5 32 167 ME=15
4RB510-0AH16-8 3~ 368 | 395 | 39 | 114 | 328 | 363 | 361 | 185 | 205 | 128 | 152 | 265 | 6B | 148 | Glw(18deep) | &4 14 5 140 [ 31 137 138 | ME=1T M25=1.5 M16x1.5 32 192 Max15
4RB510-0AH26-8 Fo= 368 | 395 | 39 | 114 | 328 | 363 | 361 | 185 | 205 | 128 | 152 | 265 | 6B | 148 | Giw(18deep) | &4 14 5 140 | 31 137 138 | ME=1T M25%1.5 M16x=1.5 32 192 M8x=15
4RB610-0AH16-8 3~ 418 | 455 | 39 | 127 | 371 | 406 | 364 | 185 | 2356 | 128 | 152 | 2M 72 | 172 | Glw(18deep) | 64 14 5 140 | 3 153 1856 | ME=17 M25=1.5 M16x1.5 32 228 M8=15
4RB610-0AH36-8 3~ 418 | 455 | 39 | 127 | 371 | 406 | 390 | 211 | 235 | 128 | 152 | 271 | 72 | 172 | Glw(i8deep) | 64 14 § 140 | 31 153 155 | ME=17 M25%1.5 M16=1.5 32 228 Max15
L] - L] . = =
ORC (&) @ www olll:




4RB220./4RB320/4RB420./4RB520./4RB620./4RB630. 4RB630.

A
A W2
L -
= | g [ — .
=3 a ~
N\ A T
J ~tcad I =
‘ [ o m_lu I )1 lr -
T = Kj 1 .
& o —U =
//J L] “\’-\y i
B T | e
4R & R
l ‘ | __/K I
| —T— 1 N
n w
5] 5]
-E E
#e | 4 | A|B|[B|Cc|[D|E|[F[H[H]|]I|[K|[M|[N]O P a || |s s | T | 1| U v | v, |w
4RB220-0AH26-7 3~ 313 | 326 | 350 | 43 | 260 | 298 | 460 | 167 | 272 | 111 | 105 | 426 | 241 | 123 | Gl4(18deep) | 64 | 14 | 4 | 140 | 31 | 105 | 107 |ME=17 | M25x15 M16%1.5 32
4RB220-0AHS56-7 3~ 313 | 326 | 359 | 43 | 260 | 298 | 525 | 167 | 272 | 128 | 105 | 426 | 241 | 123 | G1t#(18deep) | 64 14 4 140 | 31 105 107 | MB=17 M25=1.5 M16=1.5 32

ARB220-0AHTS5-T e 313 | 326 | 359 | 43 | 260 | 298 | 525 | 167 | 272 | 128 | 105 | 426 | 241 | 123 | G1w4(18deep) | 64 14 4 140 | 31 105 107 | MEx17 M25x1.5 M16x1.5 32

4RB320-0AH46-T B 331 | 345 | 380 | 47 | 200 | 325 | 380 | 177 | 2081 | 120 | 105 | 431 | 243 | 130 | G1v4(18deep) 64 14 4 140 | 31 114 116 | ME=17 M25x=1.5 M16x1.5 32

4RB320-0AHS56-7 3 331 | 345 | 380 | 47 | 200 | 325 | 421 | 177 | 201 | 128 | 105 | 431 | 243 | 130 | G1v4(18deep) | 64 14 4 140 | 31 114 16 | MB=17 M25x1.5 M16x1.5 32

4RB320-0AHTS-T 1 331 | 345 | 380 | 47 | 200 | 325 | 421 | 177 | 291 | 128 | 105 | 431 | 243 | 130 | G1i#{18deep) 64 14 4 140 | 31 125 127 | ME=17 M25x1.5 M16x1.5 32

4RB420-0AH26-T 3~ 363 | 377 [ 414 | 52 | 315 | 350 | 529 | 195 | 319 [ 128 | 130 | 436 | 243 | 143 | G1w4(18deep) | 64 14 4 140 | 31 125 127 | M6x17 M25x1.5 M16x1.5 32

4RB420-0AH56-8 Biess 363 | 377 | 414 | 52 | 315 | 350 | 554 | 185 | 319 | 128 | 130 | 436 | 243 | 143 | G114(18deep) 64 14 4 140 | 31 125 127 | M6=17 M25x%1.5 M16x1.5 32

4RB520-0AH26-8 3~ 387 | 402 | 435 | 57 | 328 | 363 | 549 | 206 | 343 | 128 | 152 | 453 | 256 | 148 | G1va(18deep) | 64 14 5 140 | 31 137 138 | ME=17 M25x1.5 M16x1.5 42

4RB520-0AHTT-8 3~ 387 | 402 | 435 | 57 328 | 363 | 603 | 206 | 343 | 148 | 152 | 453 | 256 | 148 | G1v4(18deep) 64 14 5 140 | 31 137 138 | MB=17 | 2xXM32=15 M16x1.5 32

4RB620-0AH36-8 3~ 442 | 457 | 495 | 63 | 372 | 406 | 578 | 236 | 389 | 128 | 152 | 458 | 259 | 173 | G1ws{18deep) | 64 14 9 140 | 31 153 155 | M6x17 M25x1.5 M16x1.5 42

4RB620-0AHS7-8 3= 442 | 457 | 495 | 63 | 372 | 406 | 643 | 236 | 389 | 148 | 152 | 458 | 259 | 173 | G1i4(18deep) | 64 14 5 140 | 31 153 155 | MBx17 [ 2XM32x1.5 M16x1.5

_Type

s Al ||| E|F|lea|H|HM|K|[M|[N]|O P ERER U v w, | ow,

14 5 146 | 153 MEx17 M32x1.5 42 120

2lo

ARB630-0AHB7-8 | 442 | 402 | 492 63 | 371 | 406 | 717 | 274 | 236 | 389 | 152 | 530 | 336 | 172 G113 18deep)

O“ 0 [ ) g [ ) b wWWwW [ "




—-c -
— d -—
i YxZ -
) i
i -
=4
% -
o £ =
- 8 y
N 4
1200
rt
c B F a
¥ Type | A | B D E F H J K $R
2RB 213-1HY99 246 240 157 125 230 89 21 125 14
2RB 233-1HY99 246 240 157 125 241 89 21 125 14
2RB 313-1HY99 268 267 157 125 233 100 222 136 14
2RB 333-1HY99 268 267 157 125 249 100 222 136 14
2RB 413-1HY99 286 300 157 125 240 108 233 148 14
2RB 433-1HY99 286 300 157 125 256 108 233 148 14
2RB 513-1HY99 334 324 177 140 297 127 268 169 18
2RB 533-1HY99 334 324 177 140 316 127 268 169 18
2RB 613-1HY99 360 358 177 140 318 135 281 183 18
2RB 633-1HY99 360 358 177 140 336 135 281 183 18
2RB 713-1HY99 382 382 177 140 333 144 292 194 18
2RB 733-1HY99 382 382 177 140 343 144 292 194 18
2RB 813-1HY99 451 461 245 195 433 175 265 230 24
2RB 833-1HY99 451 461 245 195 450 175 265 230 24
M5 Type a b e d e (it 9 h n 2
2RB 213-1HY99 140 51 43 2 24 40 8 20 128 140
2RB 233-1HY99 151 51 43 2 24 40 8 20 139 140
2RB 313-1HY99 140 51 43 2 24 40 8 20 128 160
2RB 333-1HY99 156 51 43 2 24 40 8 20 134 160
2RB 413-1HY99 143 53 43 2 24 40 8 20 130 174
2RB 433-1HY99 159 53 43 2 24 40 8 20 146 174
2RB 513-1HY99 169 80 44 2 28 40 8 24 156 200
2RB 533-1HY99 188 80 44 2 28 40 8 24 175 200
2RB 613-1HY99 175 80 44 2 28 40 8 24 163 226
2RB 633-1HY99 193 80 44 2 28 40 8 24 181 226
2RB 713-1HY99 182 60 44 2 28 40 8 24 169 240
2RB 733-1HY99 192 60 44 2 28 40 8 24 179 240
2RB 813-1HY99 227 85 78 2 42 60 12 37 210 286
2RB 833-1HY99 244 85 78 2 42 60 12 37 227 286
. - .

O G DURK . IK www )




YxZ

YxZ

5 % L s %
I . § 1 % o [ﬁ’: i S 1 | % .
' 120° = ; 120°
- I_ -
M5 Type A A B ) D E F H H J K $Q R
2RB 223-1HY99 285 217 270 45 157 125 288 89 106 214 128 40 14
2RB 323-1HY99 297 323 289 46 157 125 302 100 114 227 141 40 14
2RB 423-1HY99 322 322 315 58 157 125 316 108 153 240 154 45 14
2RB 523-1HY99 371 411 361 60 177 140 383 127 145 275 175 55 18
2RB 723-1HY99 426 426 421 63 177 140 429 144 162 295 197 55 18
2RB 823-1HY99 500 549 500 76 245 195 545 175 195 365 230 68 24
5 Type a b < d e f g h m n YiZ 9X
2RB 223-1HY99 199 51 43 2 24 40 8 20 42 186 M6x15 140
2RB 323-1HY99 209 51 43 2 24 40 8 20 46 196 M6x15 160
2RB 423-1HY99 219 53 43 2 24 40 8 20 46 207 M6x15 174
2RB 523-1HY99 255 60 44 2 24 40 8 24 55 241 M8x20 200
2RB 723-1HY99 278 60 44 2 24 40 8 24 75 265 M10x20 240
2RB 823-1HY99 240 85 78 2 24 40 12 37 84 322 M12x20 286
5 Type A B c D E F H J K oQ oR
2RB 743-1HY99 426 421 63 177 140 429 144 295 197 55 18
2RB 843-1HY99 500 500 152 245 195 545 175 365 230 68 24
5 Type a b c d e f g h n Y*Z X
2RB 743-1HY99 278 60 44 2 28 40 8 24 265 M10x20 | 240
2RB 843-1HY99 340 85 74 2 42 60 12 37 322 M10x20 | 286
L] - L] -
@) (C v J.IR wWWwW DILIR




6'\ = . ~— 874
L & ) “ | ) -
a) = & $
; °; ,éﬁ ) ’ i I X 5. >
\_.‘-:a\( & \;!
'~'§1§,_ i &/

5 Type A B B' c D E F J K N 0Q oR
2RB 913-1HY99 550 569 55 207 360 415 644 300 92 127 100 15
2RB 933-1HY99 550 569 55 207 360 415 682 300 92 127 100 15

B Type a b c d e f h g Y*Z X
2RB 913-1HY99 340 114 110 533 48 20 42 14 | M12x30 | 490
2RB 933-1HY99 378 114 110 533 48 20 42 14 | M12x30 | 490

5 Type A A B B' 5 D E F J H K N N'
2RB 943-1HY99 615 | 780 | 569 55 207 | 360 | 415 [ 785 300 234 92 230 113

L5 Type a b c d e f h g Yz HX $Q $R
2RB 943-1HY99 480 114 10 | 533 48 90 42 14 | M12x30 | 490 100 15

T Type A B B' C D E F J K N Q. ®R
2RB 943-1HY99 615 | 569 55 207 | 360 415 785 300 92 230 100 15

5 Type a b c d e f h g | vz OX
2RB 943-1HY99 480 114 110 | 533 48 BN 42 14 M12x30 490
LY - L] -

@) (C o . IK WWW D)




